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Topic:­ General Science
1)

Question Stimulus :­

The hormone that maintains correct salt balance in the blood  is / र� त मg ऺऻॎ लशण ऺंतॏलन बनॊयॕ रखनॕ शॊलॊ ऻॊम埀�न ऻॖ।

Insulin / इќ ऺ ॐोलन

AdƌeŶaliŶ / एोडᘀ  नॖोलन

OestƌogeŶ / ऑइ ᘀːख़जन

Thyroxine / थॊयरख़埀�ťन 

Correct Answer :­AdƌeŶaliŶ / एोडᘀ  नॖोलन 

2)

Question Stimulus :­

Appƌoǆiŵate ៀ�ŵe takeŶ ďǇ peels of ǀegetaďles & fƌuits ,leᘀoǀeƌ food stuffs to degeŶeƌate is / ऺ埀��यख़ ंऔर
फलख़ ंकॕ ोछलकख़‚ं बचॎ îई खॊ̇ ऺॊमĭॎ कख़ अľ̽ ट ऻख़नॕ मg लगभग इतनॊ ऺमय लगतॊ ऻॖ ­

ϭ to Ϯ ǁeeks / एक ऺॕ दख़ ऺп तॊऻ

ϭϬ to ϯϬ daǇs / 10 ऺॕ 30 ोदन

Ϯ to ϱ ŵoŶths / दख़ ऺॕ पॊँच मऻॎनॕ

Aďout a Ǉeaƌ / लगभग एक ऺॊल

Correct Answer :­ϭ to Ϯ ǁeeks / एक ऺॕ दख़ ऺп तॊऻ 

3)

Question Stimulus :­

The process by which plants  lose water is called  / पग़धख़ ं¸ॊरॊ जल कख़ बॊऻर ोनकॊलनॕ कॎ ोïयॊ कऻलॊतॎ ऻॖ ­

Evaporation / शॊ̽ पॎकरण

Transpiration / शॊ̽ पख़ѝ ऺ जᘀन

Precipitation / अश⠀ॕपण

Respiration / ̻ शऺन

Correct Answer :­Transpiration / शॊ̽ पख़ѝ ऺ जᘀन 

4)



Question Stimulus :­

Bar screens in wastewater treatment help to remove / अपोषЊ जल उपचॊर मg बॊर ˌॎन कॎ मदद ऺॕ इऺॕ ऻटॊतॕ ऻġ :

Microorganisms /  ॐऺßजॎश

Chlorine and other chemicals / śख़रॎन एशं अΎ रऺॊयन

Plastic cans, sticks, packets / �ॊ埀�ːक कॕ ोड�ॕ, लकीॎ, पॖकॕट

Oil and grease / तॕल एशं ĭॎि

Correct Answer :­Plastic cans, sticks, packets / �ॊ埀�ːक कॕ ोड�ॕ, लकीॎ, पॖकॕट 

5)

Question Stimulus :­

When electric current is passed through water, water dissociates into Hydrogen and Oxygen. This is an example of
the  / जल ऺॕ ोशद्यॏ त धॊरॊ कख़ ĸशॊोऻत करनॕ पर, जल ऻॊइडᘀ ख़जन और ऑ� ऺ ॎजन मg ोशयख़ोजत ऻख़तॊ ऻॖ। यऻ इऺकॊ उदॊऻरण ऻॖ

chemical effect of electric current / ोशद्यॏ त धॊरॊ कॊ रॊऺॊयोनक ĸभॊश                                                          

MagŶeៀ�Đ effeĐt of eleĐtƌiĐ ĐuƌƌeŶt / ोशद्यॏ त धॊरॊ कॊ चॏबंकॎय ĸभॊश

Heaៀ�Ŷg effect of electric current / ोशद्यॏ त धॊरॊ कॊ तॊपन ĸभॊश

Both chemical effect & Magnetic effect of electric current  / ोशद्यॏ त धॊरॊ कॊ रॊऺॊयोनक और चॏंबकॎय ĸभॊश दख़नख़ ं

Correct Answer :­chemical effect of electric current / ोशद्यॏ त धॊरॊ कॊ रॊऺॊयोनक
ĸभॊश                                                           

6)

Question Stimulus :­

The centripetal force required by a satellite to move in a circular orbit is provided by the / एक ऺॖटॕलॊइट ¸ॊरॊ प̀रपj
क⠀ॊ मg घॐमनॕ कॕ ोलए लगनॕ शॊलॊ अोभकg ĵॎय बल __________ ¸ॊरॊ ोदयॊ जॊतॊ ऻॖ।  

EleĐtƌostaៀ�Đ foƌĐe / 埀�̾थर शॖद्यॏ त बल

NuĐleaƌ FoƌĐe / नॊोभकॎय बल

MagŶeៀ�Đ FoƌĐe / चॏबंकॎय बल

Gƌaǀitaៀ�oŶal foƌĐe / गĭॊकहᘀण बल

Correct Answer :­Gƌaǀitaៀ�oŶal foƌĐe / गĭॊकहᘀण बल 

7)

Question Stimulus :­

Underwater earthquakes can produce powerful waves that travel at high speeds. These waves are called / अќ तᘀजलॎय
भॐकंप ष埀�őषॊलॎ तरगg उѝ पॊोदत कर ऺकतॕ ऻġ जख़ उ� च शॕगख़ ंपर यॊjॊ करतॎ ऻġ। यऻ तरंगg कऻलॊतॎ ऻġ  

Tǁisteƌs / बशंडर

TsuŶaŵis /  ॏऺनॊमॎ



HuƌƌiĐaŶe / तॐफॊन

Tides / � शॊर

Correct Answer :­TsuŶaŵis /  ॏऺनॊमॎ 

8)

Question Stimulus :­

WhiĐh oŶe of the folloǁiŶg fuels has the ŵaǆiŵuŵ ĐaloƌifiĐ ǀalue? ोनηोल埀�खत मg ऺॕ कग़न ऺॊ ईधंन अोधक ऺॕ अोधक
कॖलख़रॎ मॊन दॕतॊ ऻॖ?

ChaƌĐoal / चॊरकख़ल

KeƌoseŶe / ोकरख़ोऺन

L.P.G / एलपॎजॎ

Wood / लकीॎ

Correct Answer :­L.P.G / एलपॎजॎ 

9)

Question Stimulus :­

VidǇa pushes the tƌuŶk fƌoŵ leᘀ to ƌight. The foƌĐe of fƌiĐៀ�oŶ ǁill aĐt oŶ the ďoǆ / ोशदयॊ टᘀ ंक कख़ बॊयg ऺॕ दॊयg कॎ ओर
धकॕलतॎ ऻॖ। घहᘀण कॊ बल ोडс बॕ पर कॊयᘀ करॕगॊ।

Fƌoŵ leᘀ to ƌight / बॊयg ऺॕ दॊयg कॎ ओर

From right to left /  दॊयg ऺॕ बॊयg कॎ ओर

Fƌoŵ ďoth sides / दख़नख़ ंतरफ ऺॕ

Veƌៀ�ĐallǇ upǁaƌds / लу बशत ऊपर कॎ ओर

Correct Answer :­From right to left /  दॊयg ऺॕ बॊयg कॎ ओर 

10)

Question Stimulus :­

Identify the bird sanctuary located  in Rajasthan / रॊज̾ थॊन मg 埀�̾थत प⠀ॎ अभयॊरй य ἀॊत कॎोजए

Thattekadu /  थ韉ॕ�कॊडॏ

Bharatpur / भरतपॏर

Ranganthitu / रंगॊोथटटॏ

Sultanpur /  ॏऺх तॊनपॏर

Correct Answer :­Bharatpur / भरतपॏर 

11)

Question Stimulus :­



Amaranthus & grass are examples of  / चग़लॊई और घॊऺ इऺकॕ उदॊऻरण ऻġ ­

Leguminous plants / फलॎदॊर पग़धॕ

Cereal crops / अनॊज फऺल

Weed plants / खरपतशॊर पग़धॕ

PlaŶtaៀ�oŶ Đƌops / रख़पण फऺल

Correct Answer :­Weed plants / खरपतशॊर पग़धॕ 

12)

Question Stimulus :­

Waƌ taŶks ŵoǀe oŶ Đateƌpillaƌ tƌaĐks ǁhiĐh aƌe ďƌoad, ĐhaiŶ like Đoǀeƌs oŶ the ǁheels. This Đauses / यॏ� टġक, कॖटरोपलर
टᘀ ॖक पर चलतॕ ऻġ जख़ पोऻयख़ ंपर चॕन कॎ तरऻ कशर ोलए और चग़ीॕ ऻख़तॕ ऻġ , इऺकॎ शजऻ ऺॕ ‐

An increase in the area of contact with the ground / जमॎन कॕ ऺॊथ ऺंपकᘀ  कॕ ⠀ॕj मg श॑埀�� ऻख़तॎ ऻॖ। 

A decrease in the area of contact with the ground / जमॎन कॕ ऺॊथ ऺंपकᘀ  कॕ ⠀ॕj मg कमॎ ऻख़तॎ ऻॖ। 

An increase in the pressure on  the ground /  जमॎन पर दबॊश मg श॑埀�� ऻख़तॎ ऻॖ। 

 An increase in friction on the ground. / जमॎन पर घहᘀण मg श॑埀�� ऻख़तॎ ऻॖ।

Correct Answer :­An increase in the area of contact with the ground / जमॎन कॕ ऺॊथ ऺंपकᘀ  कॕ ⠀ॕj मg श॑埀�� ऻख़तॎ ऻॖ।  

13)

Question Stimulus :­

Food does not spoil for months if it is stored at / भख़जन मऻॎनख़ ंतक खरॊब नऻॎ ंऻख़तॊ योद उऺॕ इऺ तॊप पर ऺंĭऻॎत
ोकयॊ जॊए।

‐ϭϴ° C

ϱ° C

ϭϬ° C

Rooŵ teŵpeƌatuƌe Ϯϱ° C / क⠀ तॊप Ϯϱ° C

Correct Answer :­‐ϭϴ° C 

14)

Question Stimulus :­

OŶe of the folloǁiŶg poisoŶous gases ĐaŶ ĐoŵďiŶe ǁith the heŵogloďiŶ iŶ ouƌ ďlood & ĐaŶ Đause death. The gas is /
ोनу नोल埀�खत जऻरॎलॎ गॖऺख़ ंमg ऺॕ एक ऻमॊरॕ र� त मg ऻॎमख़ѓ लख़ोबन कॕ ऺॊथ ोमल ऺकतॎ ऻॖ और म◌॑ѝ यॏ कॊ कॊरण बन ऺकतॎ ऻॖ। शऻ
गॖऺ ऻॖ

Sulphuƌ dioǆide / ऺх फर डॊइऑ� ऺ ॊइड

CaƌďoŶ dioǆide / कॊबᘀन डॊइऑ� ऺ ॊइड



CaƌďoŶ ŵoŶoǆide / कॊबᘀन मख़नख़ऑ� ऺ ॊइड

OzoŶe / ओजख़न

Correct Answer :­CaƌďoŶ ŵoŶoǆide / कॊबᘀन मख़नख़ऑ� ऺ ॊइड 

15)

Question Stimulus :­

100° on Farenheit scale will be equal to  Celsius scale on / फॊरॕनऻॊइट पॖमॊनॕ पर 100 ोडĭॎ, ऺॕ埀�Аयऺ पॖमॊनॕ पर इऺकॕ
बरॊबर ऻख़गॊ :

38°

37.8°

38.6°

37°

Correct Answer :­37.8° 

16)

Question Stimulus :­

Anaerobic respiration in the muscle cell results in the accumulation of / पॕषॎ कख़ोषकॊ मg अशॊयशॎय Ќऺन कॕ
प̀रणॊम ऺॕ इऺकॊ ऺंचयन ऻख़तॊ ऻॖ

Lactic acid / लॖ埀�� टक अу ल

Glucose / ѓ लॐकख़ज

Alcohol  / एх कख़ऻल

Hydrochloric acid / ऻॊइडᘀ ख़� लख़̀रक अу ल

Correct Answer :­Lactic acid / लॖ埀�� टक अу ल 

17)

Question Stimulus :­

Identify the country leading in the production of silk. / रॕषम कॕ उѝ पॊदन मg अĭज दॕष कख़ बतॊइए

India / भॊरत

China / चॎन

Japan / जॊपॊन

Indonesia / इंडख़नॕोषयॊ

Correct Answer :­China / चॎन 

18)

Question Stimulus :­



Rain forests are often described as / शहॊᘀ शन अ� ऺ र इऺ तरऻ ऺॕ शोणᘀत ोकयॕ जॊतॕ ऻġ।
                                                                                          

LiǀiŶg juŶgles / आशॊऺ जंगल

EĐosǇsteŵ / पॊ̀रतंj

BiodiǀeƌsitǇ / जॖश ोशोशधतॊ

Bioŵe / जॎशख़म

Correct Answer :­LiǀiŶg juŶgles / आशॊऺ जंगल 

19)

Question Stimulus :­

The loss of fertile topsoil due to heavy rain and wind is called / भॊरॎ शहॊᘀ श पशन कॕ कॊरण उपजॊऊ ऊपरॎ म॑दॊ कॎ ऻॊोन
कऻलॊतॎ ऻॖ­  

Deforestation / शनख़ќ मॐलन

 Afforestation / शनरख़पण

Soil erosion / म॑दॊ अपरदन

Weathering / अप⠀यण

Correct Answer :­Soil erosion / म॑दॊ अपरदन 

20)

Question Stimulus :­

When we turn the volume up on our television, we are turning up the / जब ऻम टॕलॎोशजन कॎ आशॊज तॕज करतॕ ऻġ‚ तख़
ऻम इऺॕ बुॊ रऻॕ ऻॖ 

FƌeƋueŶĐǇ / आश॑ो̃

PitĐh / ोपच

Quality / गॏणतॊ 

Aŵplitude / आयॊम

Correct Answer :­Aŵplitude / आयॊम 

21)

Question Stimulus :­

When light is incident on a highly polished surface such as a mirror, then / जब दपᘀण कॕ जॖऺॕ अोधक चमकदॊर ऺतऻ पर
ĸकॊष आपोत त ऻख़तॊ ऻॖ‚ तब  

Regulaƌ ƌefleĐៀ�oŶ takes plaĐe / ोनयोमत परॊशतᘀन ऻख़तॊ ऻॖ

Diffused reflection takes place / ोशऺ रॎत परॊशतᘀन ऻख़तॊ ऻॖ

RefƌaĐៀ�oŶ takes plaĐe / अपशतᘀन ऻख़तॊ ऻॖ

DispeƌsioŶ takes plaĐe / प̀र⠀ॕपण ऻख़तॊ ऻॖ



DispeƌsioŶ takes plaĐe / प̀र⠀ॕपण ऻख़तॊ ऻॖ

Correct Answer :­Regulaƌ ƌefleĐៀ�oŶ takes plaĐe / ोनयोमत परॊशतᘀन ऻख़तॊ ऻॖ 

22)

Question Stimulus :­

Identify the CORRECT statement among those given below:

A distance­ time graph in respect of a moving bus gives us information about /

ोनηोल埀�खत त̊ख़ ंमg ऺॕ ऺऻॎ त̊ कख़ पऻचॊनg :

एक चलतॎ बऺ कॕ ऺΪभᘀ मg एक दॐ रॎ­ऺमय ĭॊफ ऻमg यऻ जॊनकॊरॎ दॕतॎ ऻॖ :

The speed of  a bus  with respect to the distance / दॐ रॎ कॕ ऺंदभᘀ मg बऺ कॎ गोत

Time taken by the bus with respect to speed / गोत कॕ ऺΪभᘀ मg बऺ ¸ॊरॊ ोलयॊ गयॊ ऺमय

Distance covered by the bus at any instant of time / ोकऺॎ तॊॊोलक ऺमय मg बऺ ¸ॊरॊ तय कॎ गयॎ दॐ रॎ

Only the distance covered. / मॊj तय कॎ गयॎ दॐ रॎ

Correct Answer :­Distance covered by the bus at any instant of time / ोकऺॎ तॊॊोलक ऺमय मg बऺ ¸ॊरॊ तय कॎ
गयॎ दॐ रॎ 

23)

Question Stimulus :­

The acid present in curd is / दऻॎ मg उप埀�̾थत अу ल ऻॖ

Oxalic acid / ऑťॕोलक अу ल

Lactic acid / लॖ埀�ōक अμ 

Tartaric acid / टॊटᘀ̀रक अμ 

Hydrochloric acid  / ऻॊइडᘀ ख़� लख़̀रक अу ल  

Correct Answer :­Lactic acid / लॖ埀�ōक अμ  

24)

Question Stimulus :­

A metal reacts vigorously with water at room temperature. When it is dropped into water, it darts
around the surface with a hissing sound. The metal is / ऺॊमॊќ य तॊप पर एक धॊतॏ जल कॕ ऺॊथ तॎŀतॊ ऺॕ अोभोïयॊ
करतॊ ऻॖ । जब उऺॕ जल मg ोगरॊयॊ जॊतॊ ऻॖ तख़ शऻ ऺतऻ कॎ ओर ऊ̽ म ̾ शन कॕ ऺॊथ तॎŀ गोत ऺॕ आ जॊतॊ ऻॖ। शऻ धॊतॏ ऻॖ ‐

Sodiuŵ / ऺख़ोड◌़यम

Aluminium / ऐलॏोमोनयम 

Calcium / कॖ埀�Аयम

Magnesium / मॖѓ नॎोषयम



Correct Answer :­Sodiuŵ / ऺख़ोड◌़यम 

25)

Question Stimulus :­

Coal gas is  a mixture of / कख़यलॊ गॖऺ इऺकॊ ोमmण ऻॖ

MethaŶe, HǇdƌogeŶ & CaƌďoŶ ŵoŶoǆide / ोमथॕन‚ ऻॊइडᘀ ख़जन और कॊबᘀन मख़नख़ऑ� ऺ ॊइड

MethaŶe, HǇdƌogeŶ & CaƌďoŶ dioǆide / ोमथॕन‚ ऻॊइडᘀ ख़जन और कॊबᘀन डॊइऑ� ऺ ॊइड

MethaŶe, ǁateƌ ǀapouƌ & CaƌďoŶ ŵoŶoǆide / ोमथॕन‚ जल शॊ̽ प और कॊबᘀन मख़नख़ऑ� ऺ ॊइड

MethaŶe, ǁateƌ ǀapouƌ & CaƌďoŶ dioǆide / ोमथॕन‚ जल शॊ̽ प और कॊबᘀन डॊइऑ� ऺ ॊइड

Correct Answer :­MethaŶe, HǇdƌogeŶ & CaƌďoŶ ŵoŶoǆide / ोमथॕन‚ ऻॊइडᘀ ख़जन और कॊबᘀन मख़नख़ऑ� ऺ ॊइड 

Topic:­ General Hindi
1)

Question Stimulus :­

‘त¨’ मg उपऺगᘀ ऻॖ­

त्̃

त

तत्

तद्

Correct Answer :­तत् 

2)

Question Stimulus :­

ऺॎोमत ⠀ॕj मg बख़लॎ जॊनॕ शॊलॎ भॊहॊ कख़ कऻॊ जॊतॊ ऻॖ।

भॊहॊ

उपभॊहॊ

बख़लॎ

ोलोप

Correct Answer :­बख़लॎ 

3)

Question Stimulus :­

‘अधजल गगरॎ छलकत जॊए’ ोनу न मg ऺॕ इऺ लख़कख़埀�ő कॊ ऺऻॎ अथᘀ छॊँोटए ­

मॐख埀� मg कम ἀॊन शॊलॕ कख़ बîत मऻѝ श ोमलनॊ



कम ἀॊन शॊलॊ ̾ शयं कख़ अोधक ोदखॊनॕ कॊ ĸयॊऺ करतॊ ऻॖ

ोशप埀�� ॊ कख़ ̾ शंय बॏलॊनॊ

अपनॎ यख़ѓ यतॊ ऺॕ बुकर बॊत करनॊ

Correct Answer :­कम ἀॊन शॊलॊ ̾ शयं कख़ अोधक ोदखॊनॕ कॊ ĸयॊऺ करतॊ ऻॖ 

4)

Question Stimulus :­

रॊम नॕ लंकॊ कॕ रॊजॊ रॊशण  कख़ मॊर ोगरॊयॊ। ĸ ॏˑत शॊs मg कग़न ऺॊ पदबंध ऻॖ ?

ोïयॊ पदबंध

ोïयॊ ोशषॕहण पदबंध

ोशषॕहण पदबंध

ऺंἀॊ पदबंध

Correct Answer :­ऺंἀॊ पदबंध 

5)

Question Stimulus :­

ोनу न मg ऺॕ ोश�यॊोद बख़धक शॊ� य चॏोनयॕ।

sॊ मख़ऻन पj ोलखतॊ ऻॖ

षॊयद मख़ऻन पj ोलख ऻॎ दॕ

मॕरॎ इ� छॊ ऻॖ ोक मख़ऻन यऻ पj ोलखॕ

अरॕ! यऻ पj मख़ऻन नॕ ोलखॊ ऻॖ

Correct Answer :­अरॕ! यऻ पj मख़ऻन नॕ ोलखॊ ऻॖ 

6)

Question Stimulus :­

‘गॊयन’ कॊ ऺंोध ोशẅॕद ऻॖ­

गॊ+यन

गॖ+अन

गॕ+अन

गॊ+अन

Correct Answer :­गॖ+अन 

7)

Question Stimulus :­



‘चग़दऻ शहᘀ कॎ ..........ऺमॊ� ऻख़नॕ पर mॎ रॊम अयख़�ॊ लग़टॕ’ ̀रő ̾थॊन कॕ ोलए ऺऻॎ शतᘀनॎ शॊलॊ ष� चॏनg।

अशधॎ

अशोध

औधॎ

आशोध

Correct Answer :­अशोध 

8)

Question Stimulus :­

‘आँखख़ ंपर ठॎकरॎ रखनॊ’ मॏऻॊशरॕ मg ोनу न मg ऺॕ कग़न ऺॊ अथᘀ ऺऻॎ ऻॖ?

खरॎ खख़टॎ  ॏऺनॊनॊ

बîत मॕऻनत करनॊ

बॕषमᘀ बन जॊनॊ

बîत ïख़ध आनॊ

Correct Answer :­बॕषमᘀ बन जॊनॊ 

9)

Question Stimulus :­

जंगल मg लगनॕ शॊलॎ आग sॊ कऻलॊतॎ ऻॖ ?

जठरॊनल

बीशॊनल

दॊशॊनल

कॊमॊनल

Correct Answer :­बीशॊनल 

10)

Question Stimulus :­

ोजऺकॕ ¸ॊरॊ ऻम अपनॕ भॊशख़ ंएशं ोशचॊरख़ ंकॊ आदॊन ĸदॊन करतॕ ऻġ उऺॕ कऻॊ जॊतॊ ऻॖ।

ोलोप

भॊहॊ

बख़लॎ

̺ यॊकरण



Correct Answer :­भॊहॊ 

11)

Question Stimulus :­

‘अἀ’ कॊ ोशपरॎतॊथᘀक ष� कग़न ऺॊ ऻॖ ?

अशॊᘀचॎन

क॑तū

ोशἀ

उС

Correct Answer :­ोशἀ 

12)

Question Stimulus :­

अथᘀ कॕ आधॊर पर ोनу नोल埀�खत शॊ� य कॊ भॕद बतॊइयॕ –

योद शऻ प ̀रmम करतॊ तख़ ऺफल ऻख़ जॊतॊ। 

ोशधॊनशॊचक

ोश̾ मयॊोद बख़धक

ोशोधशॊचक

ऺंकॕतशॊचक

Correct Answer :­ऺंकॕतशॊचक 

13)

Question Stimulus :­

‘जख़ कऻॊ न गयॊ ऻख़’ कॕ ोलए एक ष� ऻख़गॊ­

अशणᘀनॎय

अकोथत

अकथनॎय

अोनशᘀचनॎय

Correct Answer :­अकोथत 

14)

Question Stimulus :­

इनमg ऺॕ कग़न­ऺॊ ष� बîशचन iप मg ĸयॏő ऻख़तॊ ऻॖ?

ĸॊण



जनतॊ

पॊनॎ

बॊ̀रष

Correct Answer :­ĸॊण 

15)

Question Stimulus :­

ोनηोल埀�खत मॏऻॊशरख़ ंमg ऺॕ ोकऺकॊ अथᘀ ‘एक बॊर धख़खॊ खॊनॕ पर ऺॊशधॊन ऻख़ जॊनॊ’ ऻॖ।   

चख़र कॎ दॊुॎ मg ोतनकॊ

नदॎ मg रऻकर मगर ऺॕ बॖर

न नग़ मन तॕल ऻख़गॊ न रॊधॊ नॊचॕगॎ

दॐ ध कॊ जलॊ छॊछ भॎ फॐँ क फॐँ क कर पॎतॊ ऻॖ

Correct Answer :­दॐ ध कॊ जलॊ छॊछ भॎ फॐँ क फॐँ क कर पॎतॊ ऻॖ 

16)

Question Stimulus :­

‘गॊँठ’ कॊ एक अथᘀ ऻॖ­

जोटल

घनॊ

ोगरऻ

मॕख

Correct Answer :­ोगरऻ 

17)

Question Stimulus :­

कग़न ऺॊ ष� “ĸगोत” कॊ पयॊᘀयशॊचॎ नऻॎ ंऻॖ ­

उहᘀ

अδॏदय

उ�ॊन

उ�ॊऺ

Correct Answer :­उ�ॊऺ 

18)

Question Stimulus :­



‘चʳॊ’ ष� sॊ ऻॖ

पॏ埀��ंग

Юॎोलंग

नपॏंऺक ोलंग

ोशोध ोलंग

Correct Answer :­पॏ埀��ंग 

19)

Question Stimulus :­

ोकऺॎ पऻलॕ भॕजॕ गयॕ पj कॊ उ̃र नऻॎ ंआनॕ पर उऺ ोशहय मg यॊद ोदलॊनॕ कॕ ोलए ोलखॊ जॊनॕ शॊलॊ पj कऻलॊतॊ ऻॖ।

अोध ॐऺचनॊ

प॑̽ ठॊंकन

अनॏ̾ मॊरक

ἀॊपन

Correct Answer :­अनॏ̾ मॊरक 

20)

Question Stimulus :­

‘अĭॊ�’ मg उपऺगᘀ­

अग्

अ

अĭ

अĭॊऻ्

Correct Answer :­अĭ 

21)

Question Stimulus :­

‘पोशj’ कॊ ऺंोध ोशẅॕद ऻॖ­

पश+इj

पख़+एj

पख़+इj

पश्+इj



Correct Answer :­पख़+इj 

22)

Question Stimulus :­

ोनу न मg ऺॕ षॏ� शतᘀनॎ ोकऺकॎ ऻॖ?

दॏख

गँशॊर

अѝ यॊोधक

अंधॕरॊ

Correct Answer :­गँशॊर 

23)

Question Stimulus :­

‘ऺॕशक’ कॊ पयॊᘀयशॊचॎ ऻॖ­

भ॑쀃

आतᘀ

ोशĭऻ

खल

Correct Answer :­भ॑쀃 

24)

Question Stimulus :­

रख़मन ोनу नोल埀�खत मg ऺॕ ोकऺ भॊहॊ कॎ ोलोप ऻॖ?

ोऻंदॎ

पंजॊबॎ

iऺॎ

अंĭॕजॎ

Correct Answer :­अंĭॕजॎ 

25)

Question Stimulus :­

ोकऺ ष� मg � उपऺगᘀ नऻॎ ंऻॖ। 

�ॊशलंबॎ

�ॊगत



�तंj

�चॊोलत

Correct Answer :­�ॊगत 

Topic:­ General Mathematics
1)

Question Stimulus :­

If the product of zeros of the quadratic polynomial f(x) = 2x2 + 8x + k is 5, then k = / योद f(x) = 2x2 + 8x + k
ो¸घॊत बîपद कॕ षॐΎख़ ंकॊ गॏणनफल 5 ऻॖ, तख़ k =

6

4

10

16

Correct Answer :­10 

2)

Question Stimulus :­

The mean weight of a group of 5 girls is 47. The individual weights (in kgs) of 4 of them are 42, 46, 53 and 40. The
weight of the 5th girl is / 5 बॊोलकॊओ ंकॕ एक ऺमॐऻ कॊ मॊ� शजन, 47 ऻॖ। उनमg ऺॕ 4 बॊोलकॊओ ंकॊ ̺ य埀�őगत शजन
42, 46, 53 एशं 40 ऻॖ। 5शॎ ंबॊोलकॊ कॊ शजन ऻॖ:

48

54

50

45

Correct Answer :­54 

3)

Question Stimulus :­

720

840



968

894

Correct Answer :­968 

4)

Question Stimulus :­

Correct Answer :­  

5)

Question Stimulus :­

Correct Answer :­  

6)

Question Stimulus :­



There are two flower baskets A and B.  If 12 flowers are transferred from A to B, then the number of flowers in each
basket is the same. If 23 flowers are transferred from B to A, then the number of flowers in A is double the number
of flowers in B. The total number of flowers is / फॐ लख़ ंकॎ 2 टख़करॎ, A और B ऻġ। योद 12 फॐ ल A ऺॕ B मg
̾थॊनॊंत̀रत ोकयॕ जॊयg, तख़ ĸ쀃ॕक टख़करॎ मg फॐ लख़ ंकॎ ऺंៀ�ॊ ऺमॊन ऻख़गॎ। योद B ऺॕ A मg 23 फॐ ल ̾थॊनॊंत̀रत
ोकयॕ जॊएं, तख़ A मg फॐ लख़ ंकॎ ऺंៀ�ॊ, B मg फॐ लख़ ंकॎ ऺंៀ�ॊ कॎ दख़गॏनॎ ऻख़गॎ। कॏ ल फॐ लख़ ंकॎ ऺंៀ�ॊ ऻख़गॎ

190

210

165

170

Correct Answer :­210 

7)

Question Stimulus :­

81, 52, 29, 73, 48, 33, 31

The median of the above data is / ऊपर ोदए गए डॊटॊ यॊ आँकडg कॊ म� ऻॖ

29

33

81

48

Correct Answer :­48 

8)

Question Stimulus :­

Correct Answer :­  

9)

Question Stimulus :­



The dimension of a rectangular metallic sheet is 42cm x 28cm. From each of its corners a square of side
6cm is cut off. An open box is made from the remaining sheet. Find the volume of the box. / आयतॊकॊर
धॊ埀�̆क षॎट कॊ आयॊम, 42ऺॕमॎ x 28ऺॕमॎ ऻॖ। उऺकॕ ĸ쀃ॕक कख़ण (कॗनᘀर) ऺॕ 6ऺॕमॎ कॕ शगᘀ कख़ कॊट ोलयॊ जॊतॊ
ऻॖ। बचॎ îई षॎट ऺॕ, एक खॏलॊ बťॊ बनॊयॊ जॊतॊ ऻॖ। बťॕ कॊ आयतन ोनकॊोलए।

Correct Answer :­  

10)

Question Stimulus :­

Sum of 'n' terms of an A.P, whose nth term is given by 2n ­ 5, is / एक ऺमॊंतर आरख़ऻण (A.P) कॕ ‘n’ पद कॊ यख़ग बतॊएं,
ोजऺकॊ nशॊँ पद, 2n ­ 5 ¸ॊरॊ ोदयॊ गयॊ ऻॖ:

n(n ­ 4)

n(3n ­14)

n(2 ­ 3n)

n(3n ­ 5)

Correct Answer :­n(n ­ 4) 

11)

Question Stimulus :­

Two dice are thrown simultaneously. Find the probability of getting a number other than 2 on any dice. / दख़ पॊंऺॕ
एक ऺॊथ फg कॕ जॊतॕ ऻġ। ोकऺॎ भॎ पॊंऺॕ पर 2 कॕ अलॊशॊ अΎ कख़ई ऺंៀ�ॊ आनॕ कॎ ĸॊोयकतॊ ἀॊत करg ।



Correct Answer :­  

12)

Question Stimulus :­

Correct Answer :­  

13)

Question Stimulus :­

Which of the following quadratic equations has real and rational roots? / ोनηोल埀�खत मg ऺॕ ोकऺ ो¸घॊत ऺमॎकरण
मg शॊˑोशक एशं प̀रमॕय मॐल ऻॖ?

2x2 + 5x ­ 1 = 0

X2 + 8x + 6 = 0

4x2 ­ 5x + 2 = 0

5x2 + 6x + 1 = 0

Correct Answer :­5x2 + 6x + 1 = 0 

14)

Question Stimulus :­

In triangle PQR points L, M and N lie on PQ, QR and PR respectively to form a rhombus LQMN. If PQ = 18cm
and QR = 9cm, then the perimeter of the rhombus LQMN = / ोjभॏज PQR मg, ोबंदॏ L, M एशं N ïमष: PQ, QR एशं
PR पर एक ऺमचतॏभॏᘀज LQMN कॊ ोनमॊᘀण करतॕ ऻġ। योद PQ = 18 ऺॕमॎ. एशं QR = 9 ऺॕमॎ. ऻॖ, तब ऺमचतॏभॏᘀज LQMN
कॊ प̀रमॊप ऻॖ:

32 cm / 32 ऺॕमॎ.

28 cm / 28 ऺॕमॎ.

30 cm / 30 ऺॕमॎ.



24 cm / 24 ऺॕमॎ.

Correct Answer :­24 cm / 24 ऺॕमॎ. 

15)

Question Stimulus :­

A number is selected at random from the numbers 2,3,3,4,4,4,5,5,5,5 . The probability, that the number selected is
their average, is / ऺंៀ�ॊओ ं2,3,3,4,4,4,5,5,5,5 मg ऺॕ एक ऺंៀ�ॊ कॊ यॊ�埀�ẅकतॊ ऺॕ चयन ोकयॊ जॊतॊ ऻॖ।    ऺंв यॊ उनकॕ औऺत
पर चयोनत ऻॖ, कॎ ĸॊोयकतॊ ऻॖ ­

Correct Answer :­  

16)

Question Stimulus :­

Correct Answer :­  

17)

Question Stimulus :­



7cm / 7 ऺॕमॎ.

8cm / 8 ऺॕमॎ.

6cm / 6 ऺॕमॎ.

9cm / 9 ऺॕमॎ.

Correct Answer :­8cm / 8 ऺॕमॎ. 

18)

Question Stimulus :­

k  6

k = 4

k = 6

k   4

Correct Answer :­k = 6 

19)

Question Stimulus :­

The sum of three numbers in an A.P is ­6 and their product is 24. Taking the positive value of the common
difference as 'd' ,find the smallest of the three numbers. / एक ऺमॊंतर आरख़ऻण (A.P) मg तॎन ऺंៀ�ॊओ ंकॊ यख़ग ­6
ऻॖ एशं इनकॊ गॏणनफल 24 ऻॖ। ‘d’ कॕ iप मg ऺॊमॊΎ अंतर कॕ धनॊ稃क मॊन कख़ रखनॕ पर, तॎनख़ ंमg ऺबऺॕ छख़टॎ ऺंៀ�ॊ
ἀॊत करg ।

­6

1

2

­8

Correct Answer :­­6 

20)

Question Stimulus :­

4

6

2



1

Correct Answer :­2 

21)

Question Stimulus :­

The angles of a triangle are arranged in ascending order of magnitude. If the difference between the two
consecutive angles is 15°, then the smallest angle is / एक ोjकख़ण कॕ कख़ण, प̀रमॊण कॕ अनॏऺॊर आरख़ऻॎ ïम
मg Ґश埀�̾थत ऻġ। योद दख़ ïमॊगत कख़णख़ ंकॕ बॎच कॊ अंतर 15° ऻॖ, तख़ ऺबऺॕ छख़टॊ कख़ण ऻॖ:

30°

50°

45°

35°

Correct Answer :­45° 

22)

Question Stimulus :­

Correct Answer :­  

23)



Question Stimulus :­

The inner and outer diameter of a cylindrical pipe is 14cm and 16cm respectively. Find the weight of 7cm long
pipe, if the density of the metal used to make the pipe is 7.8gm/cm3 / एक बॕलनॊकॊर पॊइप कॊ भॎतरॎ और बॊ�
Ґॊऺ ïमष: 14ऺॕमॎ. और 16ऺॕमॎ. ऻġ। 7ऺॕमॎ ल�ॕ पॊइप कॊ शिन ोनकॊोलए, योद पॊइप कख़ बनॊनॕ कॕ ोलए ĸयख़ग कॎ गई
धॊतॏ कॎ ऺघनतॊ 7.8 ĭॊम/ऺॕमॎ3 ऻॖ

2.574kg / 2.574 ोकĭॊ.

3.128kg / 3.128 ोकĭॊ.

1.526kg/ 1.526 ोकĭॊ.

4.124kg / 4.124 ोकĭॊ.

Correct Answer :­2.574kg / 2.574 ोकĭॊ. 

24)

Question Stimulus :­

Correct Answer :­  

25)

Question Stimulus :­



Correct Answer :­  

Topic:­ General English
1)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

Irregardless of what you say, you will still be suspected.

Irregardless

of what you say,

you will still be suspected.

No error

Correct Answer :­Irregardless 



2)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

________ you are ready, please inform me over the phone.

Yet

Why

Whenever

Whether

Correct Answer :­Whenever 

3)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

We have reserved a room for you at the Grand Hotel.

A room has been reserved by us for you at the Grand Hotel.

A room has been reserved for you at the Grand Hotel.

A room at the Grand Hotel had been reserved.

The Grand Hotel has a room reserved for you .

Correct Answer :­A room has been reserved for you at the Grand Hotel. 

4)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:

 

How hot the weather is! (The assertive form of the sentence)

The weather is being very hot.

It is a very hot weather.

It is being a hot weather.

The weather is becoming very hot.

Correct Answer :­It is a very hot weather. 

5)



Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

 

This tea cup is ___usable as it is made of porcelain.

re­

pre­

in­

un­

Correct Answer :­re­ 

6)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

The boy wrote a letter to his parents.

A letter was written by the boy to his parents.

Letter was written to his parents by the boy.

A letter has been written by the boy to his parents.

A letter had been written to his parents by the boy.

Correct Answer :­A letter was written by the boy to his parents. 

7)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

Do not distract me. I _________ to concentrate.

was trying

am trying

try

tried

Correct Answer :­am trying 

8)

Question Stimulus :­



Choose the option that best punctuates the given sentence:

 

Its important that the childs toys are kept in its place

Its important that the child’s toy’s are kept in it’s place

It’s important that the child’s toys are kept in its place.

It’s important that, the child’s toys are kept in its place?

It’s important that, the child’s toys, are kept in it’s place.

Correct Answer :­It’s important that the child’s toys are kept in its place. 

9)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

Lebowitzs experience with cancer prompted other changes in her life

Lebowitz’s experience with cancer prompted other change’s in her life.

Lebowitz’s experience with cancer prompted other changes in her life

Lebowitzs experience with cancer prompted other changes in her life!

Lebowitz’s experience with, cancer, prompted other changes in her life.

Correct Answer :­Lebowitz’s experience with cancer prompted other changes in her life 

10)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

Let's be straight ________ each other.

for

against

with

at

Correct Answer :­with 

11)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:



 

I paid her a charming compliment on her getting the first place in the university examination

price

praise

pleasure

smile

Correct Answer :­praise 

12)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

 

There __________ more orders coming from Spain during the year 2000.

is

are

were

has been

Correct Answer :­were 

13)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

 

The teacher said to the boy, “shut the door.”

The teacher asked to the boy to shut the door.

The teacher asked the boy to shut the door.

The teacher asked the boy that to shut the door.

The teacher said the boy to shut the door.

Correct Answer :­The teacher asked the boy to shut the door. 

14)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

 



The cloth mill is opening ________ new retail outlet in a week.

a few

some

its

a little

Correct Answer :­its 

15)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

He was ________ prison ________ two years.

at, for

in, over

in, for

into, since

Correct Answer :­in, for 

16)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

 

He said, “God is great.”

He said that God was great.

He said that God is great.

He said that God is being great.

He says that God is great.

Correct Answer :­He said that God is great. 

17)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

Dr. Fields received so large bill when he checked out of the hotel that he did not have enough money to
pay for a taxi to the airport.



Dr. Fields received so large bill

when he checked out of the hotel

did not have enough money

to pay for a taxi to the airport

Correct Answer :­Dr. Fields received so large bill 

18)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

The belief in life after death is prevalent in both primitive societies ________ advanced cultures.

and

besides

but

as well as

Correct Answer :­and 

19)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

I _________ for Rahul. Do you know where he is?

look

will looked

am looking

went looked

Correct Answer :­am looking 

20)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:

 

He is weak. He will pass.

(Combine the two sentences into one sentence)



He is weak and he will pass.

He is weak, so he will pass

He is weak but he will pass

Despite of his weakness he will pass.

Correct Answer :­He is weak but he will pass 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick­ skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

 

Which is the world’s largest island?

British Isles

Sri Lanka

Borneo

Madagascar

Correct Answer :­Madagascar 

2)

Question Stimulus :­

Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick­ skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

 

 Which of the fruits are oval shaped and a drupe?

Avocado



Litchi

Orange

Banana

Correct Answer :­Litchi 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick­ skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

 

Which of the fruits mentioned in the passage is greenish in colour?

Plum

Peach

Avocado

Litchi

Correct Answer :­Avocado 

4)

Question Stimulus :­

Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick­ skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

 

In which year did Madagascar issue stamps featuring fruits?

1985

1990

1992



1995

Correct Answer :­1992 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick­ skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

 

Which kind of plant is the banana?

Deciduous

Herbaceous

Prickly

Coniferous

Correct Answer :­Herbaceous 

Topic:­ General Knowledge
1)

Question Stimulus :­

Sardar Sarovar Dam is built on the ________ river. / ऺरदॊर ऺरख़शर बॊंध ________ नदॎ पर बनॊयॊ गयॊ ऻॖ।

Narmada / नमᘀदॊ

Betwa / बॕतशॊ

Son / ऺख़न

Chambal / चंबल

Correct Answer :­Narmada / नमᘀदॊ 

2)

Question Stimulus :­

Which country won the 2016 Asian Women's Hockey Champions Trophy? / ोकऺ दॕष नॕ एोषयॊई मोऻलॊ ऻॗकॎ
चॖ埀�ήयќ ऺ  टᘀ ॗफॎ 2016 जॎतॎ?

Japan / जॊपॊन

India / भॊरत



Malaysia / मलॕोषयॊ

China / चॎन

Correct Answer :­India / भॊरत 

3)

Question Stimulus :­

Which of the following is not correctly matched? / ोनηोल埀�खत मg ऺॕ कग़न  ॏऺमॕोलत नऻॎ ंऻॖ?

ISRO ‐ Satellite lauŶĐh / इऺरख़ ­ ऺॖटॕलॊइट लॗȳ

NSE ­ Equity Derivatives / एनएऺई ­ इ埀�šटॎ डॕ̀रशॕोट̺ऺ

RBI ­ Custodian of Foreign Exchange / भॊरतॎय ̀रजशᘀ बġक ­ ोशदॕषॎ मॏĵॊ कॕ अोभर⠀क

PFRDA ­ Life Insurance / पॎएफआरडॎए ­ जॎशन बॎमॊ

Correct Answer :­PFRDA ­ Life Insurance / पॎएफआरडॎए ­ जॎशन बॎमॊ 

4)

Question Stimulus :­

Which of the following cities is called planned city of India? / ोनηोल埀�खत षऻरख़ ंमg ऺॕ ोकऺॕ भॊरत कॊ  ॏऺ ोनयख़ोजत
षऻर कऻॊ जॊतॊ ऻॖ?

Delhi / ोद�ॎ

Ranchi / रॊँचॎ

Panaji / पणजॎ

Chandigarh / चंडॎगु

Correct Answer :­Chandigarh / चंडॎगु 

5)

Question Stimulus :­

Which of these International cricket stadiums is not in Madhya Pradesh? / ोनηोल埀�खत मg ऺॕ कग़न­ऺॊ अंतररॊЊᘀ ॎय
ोïकॕट ːॕोडयम, म�ĸदॕष मg नऻॎ ंऻॖ?

Nehru Stadium / नॕऻħ ːॕोडयम

Roop Singh Stadium / iप ोऺंऻ ːॕोडयम

Holkar Cricket Stadium / ऻख़लकर ोïकॕट ːॕोडयम

Barabti Stadium / बॊरॊबतॎ ːॕोडयम

Correct Answer :­Barabti Stadium / बॊरॊबतॎ ːॕोडयम 

6)

Question Stimulus :­



____________  has special autonomy under Article 370 of the Constitution of India. / भॊरतॎय ऺंोशधॊन कॕ अनॏẅॕद 370
कॕ तऻत ____________ कख़ ोशषॕह �ॊय̃ॊ ĸॊ� ऻॖ।

Jammu & Kashmir / जκॐ एशं कʳॎर

Himachal Pradesh / ोऻमॊचल रॊ埇�

Punjab / पंजॊब

Haryana / ऻ̀रयॊणॊ

Correct Answer :­Jammu & Kashmir / जκॐ एशं कʳॎर 

7)

Question Stimulus :­

Where do we find ‘Coral Reefs’ in India? / भॊरत मg ऻम “कख़रल रॎू” कऻॊँ पॊएँगॕ?

Rameshwaram / रॊमॕЌरम

Ujjain / उźॖन

Rajasthan / रॊज̾थॊन

Madurai / मदॏरई

Correct Answer :­Rameshwaram / रॊमॕЌरम 

8)

Question Stimulus :­

______ is also known as orchid state of India. / __________ कख़ भॊरत कॕ ऑोकᘀ ड रॊ埇� कॕ नॊम ऺॕ भॎ जॊनतॕ ऻġ।

Assam / अऺम

Tripura / ोjपॏरॊ

Nagaland / नॊगॊलġड

Arunachal Pradesh / अħणॊचल ĸदॕष

Correct Answer :­Arunachal Pradesh / अħणॊचल ĸदॕष 

9)

Question Stimulus :­

George castle is situated in _______ National Park. / जॗजᘀ कॖऺल, _______ रॊЊᘀ ॎय उ̇ॊन मg 埀�̾थत ऻॖ।

Bandhavgarh / बॊंधशगु

Kanha / कॊΨॊ

Madhav / मॊधश

Sanjay / ऺंजय



Correct Answer :­Madhav / मॊधश 

10)

Question Stimulus :­

Charminar in Hyderabad was built in __________. / ऻॖदरॊबॊद मg चॊरमॎनॊर कॊ ोनमॊᘀण  __________ मg îआ थॊ।

1591

1951

1681

1861

Correct Answer :­1591 

11)

Question Stimulus :­

Which of the following countries won the most medals in the 2016 Rio Olympics? / ोनу न मg ऺॕ ोकऺ दॕष नॕ 2016 कॕ
̀रयख़ ओल埀�ήक मg ऺशॊᘀोधक पदक जॎतॕ?

China / चॎन

USA / ऺंयॏ� त रॊ� य अमॕ̀रकॊ

Russia / iऺ

Germany / जमᘀनॎ

Correct Answer :­USA / ऺंयॏ� त रॊ� य अमॕ̀रकॊ 

12)

Question Stimulus :­

The Lakshmibai National University of Physical education is at ________. / लßॎबॊई रॊЊᘀ ॎय षॊरॎ̀रक ोष⠀ॊ
ोशЌोश̇ॊलय ___________ मg ऻॖ।

Panna / पΌॊ

Indore / इंदग़र

Ujjain / उźॖन

Gwalior / ũॊोलयर

Correct Answer :­Gwalior / ũॊोलयर 

13)

Question Stimulus :­

________ is the smallest state by area in India. / ⠀ॕjफल कॕ अनॏऺॊर भॊरत कॊ ऺबऺॕ छख़टॊ रॊ埇� ________ ऻॖ।

Mizoram / ोमिख़र



Manipur / मोणपॏर

Goa / गख़शॊ

Sikkim / ोऺ埀�óम

Correct Answer :­Goa / गख़शॊ 

14)

Question Stimulus :­

__________, a city in Karnataka is known as “Silicon valley of India”. / कनॊᘀटक कॊ _________ षऻर, "भॊरत कॎ
ोऺोलकॗन शॖलॎ” कॕ iप मg जॊनॊ जॊतॊ ऻॖ।

Bengaluru / बgगलॏi

Mangalore / मंगलग़र

Hubli / îबलॎ

Mysore / मॖ ॐऺर

Correct Answer :­Bengaluru / बgगलॏi 

15)

Question Stimulus :­

Iqbal award is presented by the Government of Madhya Pradesh to honour creative writings in ________. /
इक़बॊल पॏरˋॊर, ________ मg रचनॊ稃क लॕखन कॊ ऺκॊन करनॕ कॕ ोलए म�ĸदॕष ऺरकॊर ¸ॊरॊ ोदयॊ जॊतॊ ऻॖ।

Marathi / मरॊठॎ

Bengali / बंगॊलॎ

Urdu / उदॐ ᘀ

Telugu / तॕलॏगॏ

Correct Answer :­Urdu / उदॐ ᘀ 

16)

Question Stimulus :­

_________ is famous for nail art and nail painting and has a patent in the same. / _________ नॊखॐन कलॊ एशं नॊखॐन
पgोटंग कॕ ोलए ĸोऺ� ऻġ एशं इऺॎ मg इनकॊ पॕटॕȴ भॎ ऻॖ।

Wajid Khan / शॊोजद खॊन

M.F. Hussain / एम.एफ. îऺॖन

Raja Ravi Varma / रॊजॊ रोश शमॊᘀ

Satish Gujral / ऺतॎष गॏजरॊल

Correct Answer :­Wajid Khan / शॊोजद खॊन 



17)

Question Stimulus :­

Least number of fairs in Madhya Pradesh is held in _________ district. / म�ĸदॕष मg ऺबऺॕ कम मॕलॕ __________
ोजलॕ मg आयख़ोजत ऻख़तॕ ऻġ।

Khandwa / खंडशॊ

Rajgarh / रॊजगु

Hoshangabad / ऻख़षंगॊबॊद

Indore / इंदग़र

Correct Answer :­Hoshangabad / ऻख़षंगॊबॊद 

18)

Question Stimulus :­

There is no airport in India named after __________. / भॊरत मg, __________ कॕ नॊम पर कख़ई
ऻशॊई अ`ॊ नऻॎ ंऻॖ।

Rajiv Gandhi / रॊजॎश गॊँधॎ

Mahatma Gandhi / मऻॊ稃ॊ गॊँधॎ

Netaji Subash Chandra Bose / नॕतॊजॎ  ॏऺभॊहचΚ बख़ऺ

Sardar Vallabhbhai Patel / ऺरदॊर श�भभॊई पटॕल

Correct Answer :­Mahatma Gandhi / मऻॊ稃ॊ गॊँधॎ 

19)

Question Stimulus :­

_________ is known as flying Sikh of India. / _______  कख़ भॊरत कॕ “�लॊइंग ोऺख” कॕ iप मg जॊनॊ जॊतॊ ऻॖ।

Arjit Singh / अोजᘀत ोऺंऻ

Milka Singh / ोमσॊ ोऺंऻ

Navjot Singh / नशजख़त ोऺंऻ

Khushwant Singh / खॏषशंत ोऺंऻ

Correct Answer :­Milka Singh / ोमσॊ ोऺंऻ 

20)

Question Stimulus :­

The first Indian woman boxer to get a gold medal in Asian games is ______. / एोषयॊई खॕलख़ ंमg �णᘀ पदक पॊनॕ
शॊलॎ पऻलॎ भॊरतॎय मोऻलॊ मॏóॕबॊि ______ ऻॖ।

Pinki Rani / ोपंकॎ रॊनॎ



Mary Kom / मॖरॎ कख़म

Pooja Rani / पॐजॊ रॊनॎ

Aruna Mishra / अħणॊ ोमmॊ

Correct Answer :­Mary Kom / मॖरॎ कख़म 

21)

Question Stimulus :­

Where is the famous ‘Bandipur National Park’ situated? / ĸोऺ� “बॊंदॎपॏर रॊЊᘀ ॎय उ̇ॊन” कऻॊँ 埀�̾थत ऻॖ?

Sikkim / ोऺ埀�óम

Gujarath / गॏजरॊत

Kerala / कॕरल

Karnataka / कनॊᘀटक

Correct Answer :­Karnataka / कनॊᘀटक 

22)

Question Stimulus :­

_______ is known as “Missile man of India.” / ________ कख़ “ोमऺॊइल मॖन ऑू इंोडयॊ” कॕ iप मg जॊनॊ जॊतॊ ऻॖ।

A.P.J. Abdul Kalam / ए.पॎ.जॕ.अ�ॏल कलॊम

Vikram Sarabhai / ोशïम ऺॊरॊभॊई

Anil Bhardwaj / अोनल भॊर¸ॊज

Venkatraman Radhakrishnan / शgकटरमण रॊधॊक॑Сन

Correct Answer :­A.P.J. Abdul Kalam / ए.पॎ.जॕ.अ�ॏल कलॊम 

23)

Question Stimulus :­

Sri Harmandir Sahib, also known as ___________ is the holiest Gurudwara of Sikhism. / mॎ ऻरमंोदर ऺॊोऻब, ोजऺॕ
_________ कॕ नॊम ऺॕ भॎ जॊनॊ जॊतॊ ऻॖ। ोऺख धमᘀ कॊ ऺबऺॕ पोशj गॏħ¸ॊरॊ ऻॖ।

Charminar / चॊरोमनॊर

Golden Temple / �णᘀ मंोदर

Somnath Temple / ऺख़मनॊथ मंोदर

Yogmaya Temple / यख़गमॊयॊ मंोदर

Correct Answer :­Golden Temple / �णᘀ मंोदर 

24)



Question Stimulus :­

Which of the following countries will host the 2026 Asian Games? / 2026 कॕ एोषयॊई खॕलख़ ंकॊ आयख़जन ोकऺ दॕष मg
ोकयॊ जॊएगॊ? 

Japan / जॊपॊन

Malaysia / मलॕोषयॊ

Philippines / ोफलॎपॎќ ऺ

India / भॊरत

Correct Answer :­Japan / जॊपॊन 

25)

Question Stimulus :­

Amjad Ali Khan is an Indian classical musician who plays __________. / अमजद अलॎ खॊन एक भॊरतॎय षॊЮॎय
ऺंगॎतकॊर ऻġ, जख़ ________ बजॊतॕ ऻġ।

Sitar / ोऺतॊर

Sarod / ऺरख़द

Tabla / तबलॊ

Santoor / ऺंतॐर

Correct Answer :­Sarod / ऺरख़द 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

ϭ oŶlǇ / कॕशल 1

ϭ aŶd ϯ / 1 और 3

ϯ aŶd ϰ / 3 और 4



ϱ oŶlǇ / कॕशल 5

Correct Answer :­ϯ aŶd ϰ / 3 और 4 

2)

Question Stimulus :­

What is the use of ͞Hide Slide͟ opៀ�oŶ iŶ MS PoǁeƌPoiŶt ϮϬϬϳ? / MS PoǁeƌPoiŶt ϮϬϬϳ मg ोशकх प ͞Hide Slide͟ कॊ sॊ
उपयख़ग ऻख़तॊ ऻॖ?

To hide the seleĐted slides duƌiŶg PƌeseŶtaៀ�oŶ / ĸिgटॕषन कॕ दग़रॊन ऺॕलॕ� टॕड ̾ लॊइड्ऺ कख़ ऻॊइड करनॊ

To hide the seleĐted slides duƌiŶg Ediៀ�Ŷg / एोडोटंग कॕ दग़रॊन ऺॕलॕ� टॕड ̾ लॊइड्ऺ कख़ ऻॊइड करनॊ

To hide the seleĐted slides duƌiŶg PƌiŶៀ�Ŷg / ोĸंोटंग कॕ दग़रॊन ऺॕलॕ� टॕड ̾ लॊइड्ऺ कख़ ऻॊइड करनॊ

To hide the seleĐted slides duƌiŶg Deleៀ�Ŷg / ोडलॎोटंग कॕ दग़रॊन ऺॕलॕ� टॕड ̾ लॊइड्ऺ कख़ ऻॊइड करनॊ

Correct Answer :­To hide the seleĐted slides duƌiŶg PƌeseŶtaៀ�oŶ / ĸिgटॕषन कॕ दग़रॊन ऺॕलॕ� टॕड ̾ लॊइड्ऺ कख़ ऻॊइड
करनॊ 

3)

Question Stimulus :­

WhiĐh tag is used to displaǇ Pƌefoƌŵaഀed teǆts iŶ HTML? / HTML मg, ोĸफॗमĝटॕड टॕ� ː ्ऺ कख़ ोड̾ п लॕ करनॕ कॕ ोलए, इनमg
ऺॕ ोकऺ टॖग कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

<pƌe> … </ pƌe>

<pƌefoƌ> … </ pƌefoƌ>

<pƌe teǆt> … </ pƌe teǆt>

<pƌe foƌŵat> … </ pƌe foƌŵat>

Correct Answer :­<pƌe> … </ pƌe> 

4)

Question Stimulus :­

Which standard govern parallel communications? / कग़न ऺॊ ̾ टġडडᘀ , पॖरलल कу यॏोनकॕषन कख़ ोनयंोjत करतॊ ऻॖ?

RSϮϯϮ

RS‐ϮϯϮa

CAT ϱ

IEEE ϭϮϴϰ

Correct Answer :­IEEE ϭϮϴϰ 

5)

Question Stimulus :­

Hoǁ to add alteƌŶaៀ�ǀe teǆt foƌ aŶ Iŵage iŶ HTML? / HTML मg, इमॕज कॕ ोलए अх टरनॕोटश टॕ� ̾  ट कॖऺॕ एड ोकयॊ जॊतॊ ऻॖ?



<iŵg sƌĐ = ͞hഀp://ǁǁǁ.google.Đoŵ/logo.pŶg͟ alteƌŶate = ͞Logo of ǁeďsite͟ />

<iŵg sƌĐ = ͞hഀp://ǁǁǁ.google.Đoŵ/logo.pŶg͟ alt teǆt = ͞Logo of ǁeďsite͟ />

<iŵg sƌĐ = ͞hഀp://ǁǁǁ.google.Đoŵ/logo.pŶg͟ alteƌŶate teǆt = ͞Logo of ǁeďsite͟ />

<iŵg sƌĐ = ͞hഀp://ǁǁǁ.google.Đoŵ/logo.pŶg͟ alt = ͞Logo of ǁeďsite͟ />

Correct Answer :­<iŵg sƌĐ = ͞hഀp://ǁǁǁ.google.Đoŵ/logo.pŶg͟ alt = ͞Logo of ǁeďsite͟ /> 

6)

Question Stimulus :­

In Linux, what sign is used to erase or kill an entire line you have typed and start you on a new line (but
not display a new prompt)? / ोलन� ऺ  मg, आपकॕ ¸ॊरॊ टॊइप कॎ गई पॐरॎ लॊइन कख़ ोमटॊनॕ तथॊ नई लॊइन षॏi करनॕ
(लॕोकन नयॊ ĸॗу п ट ोड̾ п लॕ नऻॎ ंऻख़तॊ ऻॖ) कॕ ोलए ोकऺ ऺंकॕत कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

!

$

#

@

Correct Answer :­@ 

7)

Question Stimulus :­

In Excel 2007, you can use the format painter multiple times before you turn it off by _______. / Excel 2007 मg आप
फॗमĝट पgटर कख़ ________  कॕ ¸ॊरॊ ऑफ करनॕ ऺॕ पऻलॕ इऺकॊ अनॕक बॊर उपयख़ग कर ऺकतॕ ऻġ।

You ĐaŶ use the foƌŵat paiŶteƌ ďuഀoŶ oŶlǇ oŶe ៀ�ŵe ǁheŶ Ǉou ĐliĐk it / आप फॗमĝट पgटर बटन कॊ उपयख़ग इऺ
पर 埀�śक करकॕ कॕशल एक बॊर कर ऺकतॕ ऻġ

Double clicking the format painter button / फॗमĝट पgटर बटन पर डबल 埀�śक करकॕ

Pressing the Ctrl key and clicking the format painter button / Ctrl key दबॊतॕ îए फॗमĝट पgटर बटन पर 埀�śक
करकॕ

Pressing the Alt key and clicking the format painter button / Alt key दबॊतॕ îए फॗमĝट पgटर बटन पर 埀�śक
करकॕ

Correct Answer :­Double clicking the format painter button / फॗमĝट पgटर बटन पर डबल 埀�śक करकॕ 

8)

Question Stimulus :­

AŶ eǆĐel ǁoƌkďook is a ĐolleĐៀ�oŶ of / eǆĐel शकᘀ बॏक ______ कॊ ऺंĭऻ ऻख़तॎ ऻॖ।

Workbooks / शकᘀ बॏ� ऺ

Worksheets but not charts / शकᘀ षॎट्ऺ, लॕोकन चॊटᘀ नऻॎ ं

Charts but not worksheets / चॊटᘀ, लॕोकन शकᘀ षॎट्ऺ नऻॎ ं



Worksheets and charts / शकᘀ षॎट्ऺ तथॊ चॊटᘀ

Correct Answer :­Worksheets and charts / शकᘀ षॎट्ऺ तथॊ चॊटᘀ 

9)

Question Stimulus :­

Which class of IP address has the most host addresses available by default? / ोकऺ IP ए ᘀ̀ ॕऺ मg ोडफॗх ट कॕ आधॊर
पर ऺशॊᘀोधक ऻख़̾ ट ए ᘀ̀ ॕऺ उपलс ध ऻख़तॕ ऻġ?

A

B

C

A aŶd B / A और B

Correct Answer :­A 

10)

Question Stimulus :­

In MS Word, Ctrl + T is used to _______. / MS Word मg Ctrl + T________

करनॕ कॕ ोलए ĸयख़ग ोकयॊ जॊतॊ ऻॖ।

HaŶgiŶg IŶdeŶt / ऻġोगंग इंडॕќ ट

Leᘀ IŶdeŶt / लॕ� इंडॕќ ट

Open Tabs Dialog box / टॖ� डॊयलॗग बॗť ओपन   

TeƌŵiŶate all opeŶed Dialog ďoǆ / ऺम̾ त खॏलॕ îए डॊयलॗग बॗť बंद

Correct Answer :­HaŶgiŶg IŶdeŶt / ऻġोगंग इंडॕќ ट 

11)

Question Stimulus :­

Which of the following is a popular DOS based spreadsheet package? / ोनу न मg ऺॕ � यॊ ĸचोलत DOS आधॊ̀रत
̾ ĸॕडषॎट पॖकॕज ऻॖ?

Word

Smart Cell

Excel

Lotus 1­2­3

Correct Answer :­Lotus 1­2­3 

12)

Question Stimulus :­



IŶ LiŶuǆ, ǁhat ĐoŵŵaŶd is used ǁith ǀi editoƌ to saǀe file aŶd ƌeŵaiŶ iŶ the ediៀ�Ŷg ŵode? / ोलन� ऺ  मg, फॊइल ऺॕश
(रो⠀त) करनॕ तथॊ एोडोटंग मख़ड मg बनॕ रऻनॕ कॕ ोलए, ǀi एोडटर कॕ ऺॊथ ोकऺ कमॊंड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

ǆ

Ƌ!

:ǁ

:Ƌ

Correct Answer :­:ǁ 

13)

Question Stimulus :­

In computing terminology, what is the term used to signify the communication system for transferring data
between components inside a computer? / कу п यॐोटंग टोमᘀनॊलॗजॎ मg ोकऺ षс द कॊ उपयख़ग उऺ कу यॏोनकॕषन ोऺ̾ टम
कॕ ĸकटन कॕ ोलए ोकयॊ जॊतॊ ऻॖ जख़ कу п यॐटर कॕ भॎतर कॕ कу पख़नgट्ऺ कॕ मк य डॕटॊ टᘀ ॊंऺफर कॕ ोलए ऻख़तॊ ऻॖ?

Drive / डᘀ ॊइश

Sink / ोऺंक

Bus / बऺ

Field / फॎх ड

Correct Answer :­Bus / बऺ 

14)

Question Stimulus :­

IŶ MS Woƌd ϮϬϬϳ, Poƌtƌait aŶd LaŶdsĐape aƌe _____________. / MS Woƌd ϮϬϬϳ मg, पख़टᘀ ĝट तथॊ लgड̾ कॕप ऻġ ­

Page OƌieŶtaៀ�oŶ / पॕज ओ̀रएंटॕषन

Papeƌ Size / पॕपर ऺॊइि

Page BaĐkgƌouŶd / पॕज लॕआउट

All of aďoǀe / उपरख़� त ऺभॎ

Correct Answer :­Page OƌieŶtaៀ�oŶ / पॕज ओ̀रएंटॕषन 

15)

Question Stimulus :­

IŶ MS‐DOS, ǁhiĐh of the folloǁiŶg stateŵeŶt is ǀalid aďout ͞TIME͟ ĐoŵŵaŶd? / MS‐DOS मg, कमॊंड ͞TIME͟ कॕ ऺंदभᘀ
मg ोनу न मg ऺॕ कग़न ऺॊ तј य मॊќ य ऻॖ?

Tiŵe ĐoŵŵaŶd is used to displaǇ aŶd alloǁ ĐhaŶges to the sǇsteŵ ៀ�ŵe / टॊइम कमॊंड कॊ उपयख़ग ोऺ̾ टम
टॊइम कख़ ोड̾ п लॕ करनॕ तथॊ उऺमg îए बदलॊशख़ ंकख़ लॊगॐ करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ

Tiŵe foƌŵat ĐaŶ ďe ĐhaŶged ďǇ ĐhaŶgiŶg iŶ ĐouŶtƌǇ seៀ�Ŷg iŶ ĐoŶfig.sǇs file / टॊइम फॗमĝट कख़ ĐoŶfig.sǇs file मg
कंटᘀ ॎ ऺॕोटंग मg बदलॊश करकॕ प̀रशोतᘀत ोकयॊ जॊ ऺकतॊ ऻॖ



MS‐DOS displaǇs the ៀ�ŵe iŶ ϭϮ‐houƌ oƌ Ϯϰ‐houƌ foƌŵat / MS‐DOS टॊइम कख़ 12­घंटॕ यॊ 24 घंटॕ कॕ ĸॊiप मg
ोड̾ п लॕ करतॊ ऻॖ

All of the aďoǀe / उपरख़� त ऺभॎ

Correct Answer :­All of the aďoǀe / उपरख़� त ऺभॎ 

16)

Question Stimulus :­

To create a new Word template document(versions MS Office version 2007 and above) you must format your
document to the required style and / नयॊ शडᘀ  टॕу п लॕट ड� यॐमgट (शजᘀन ­ MS ऑोफऺ, शजᘀन 2007 तथॊ इऺऺॕ आगॕ)
ोïएट करनॕ कॕ ोलए आपकख़ अपनॕ ड� यॐमgट कख़ शॊंोछत ̾ टॊइल मg फॗमĝट तथॊ ________ ऻख़गॊ।

Save the document as a .domx file / ड� यॐमgट कख़ .domx फॊइल कॕ iप मg रो⠀त करनॊ

Save the document as a .dotx file / ड� यॐमgट कख़ .dotx फॊइल कॕ iप मg रो⠀त करनॊ

Save the document as a .doct file / ड� यॐमgट कख़ .doct फॊइल कॕ iप मg रो⠀त करनॊ

Save the document as a .docm file / ड� यॐमgट कख़ .docm फॊइल कॕ iप मg रो⠀त करनॊ

Correct Answer :­Save the document as a .dotx file / ड� यॐमgट कख़ .dotx फॊइल कॕ iप मg रो⠀त करनॊ 

17)

Question Stimulus :­

In Windows, the key combination to open task manager is _____________. / ोशंडख़ि मg, टॊ̾ क मॖनॕजर ओपॕन करनॕ कॕ
ोलए कॎ­कॊ埀��नॕषन ऻॖ ­

Ctrl + Alt + Del

Ctrl + Alt + Tab

Ctrl + Shift + Del

Shift + Alt + Del

Correct Answer :­Ctrl + Alt + Del 

18)

Question Stimulus :­

The brain of computer system is ________. / _______ कу п यॐटर कॊ म埀�ˑ̽ क ऻख़तॊ ऻॖ

ALU / एएलयॐ

Memory / मॖमख़रॎ

CPU / ऺॎपॎयॐ

Control Unit / कंटᘀ ख़ल यॐोनट

Correct Answer :­CPU / ऺॎपॎयॐ 

19)



Question Stimulus :­

IŶ MS‐DOS, ǁhiĐh ĐoŵŵaŶd is used to delete the diƌeĐtoƌǇ that is eŵptǇ? / MS‐DOS मg, ̀र� त डॊइरॕ� टरॎ ोडोलट करनॕ
कॕ ोलए ोकऺ कमॊंड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Del *.*

RD

Erase

MD

Correct Answer :­RD 

20)

Question Stimulus :­

WhiĐh is the ĐoƌƌeĐt to Đƌeate aŶ AƌaďiĐ Ŷuŵeƌal list iŶ HTML? / HTML मg, एरॕोबक ќ यॐमॕरल ोल̾ ट ोïएट करनॕ कॕ ोलए
ोनу न मg ऺॕ sॊ ऺऻॎ ऻॖ?

<ul tǇpe=͟ϭ″>

<ol tǇpe=͟ϭ″>

<il tǇpe=͟ϭ″>

<li tǇpe=͟ϭ″>

Correct Answer :­<ol tǇpe=͟ϭ″> 

21)

Question Stimulus :­

A Web site's front page or main page is called / ोकऺॎ शॕब ऺॊइट कॊ lंट यॊ मॏв य पॕज कऻलॊतॊ ऻॖ ­

Browser Page / ĺॊउिर पॕज

Search Page / ऺचᘀ पॕज

Home Page / ऻख़म पॕज

Bookmark / बॏकमॊकᘀ

Correct Answer :­Home Page / ऻख़म पॕज 

22)

Question Stimulus :­

What does the command routerA(config)#line cons 0 allow you to perform next? / कमॊंड routerA(config)#line
cons 0 आपकख़ इऺकॕ बॊद � यॊ करनॕ कॎ  ॏऺ ोशधॊ ĸदॊन करतॊ ऻॖ?

Set the TelŶet passǁoƌd. / टॕलनॕट पॊऺशडᘀ  बनॊनॕ कॎ

Shut doǁŶ the ƌouteƌ. / रॊउटर बंद करनॕ कॎ

Set Ǉouƌ ĐoŶsole passǁoƌd. / आपकॕ कंऺख़ल पॊ̾ शडᘀ  बनॊनॕ कॎ



Disaďle ĐoŶsole ĐoŶŶeĐៀ�oŶs. / कंऺख़ल कनॕ� षन ोडऺॕबल करनॕ कॎ

Correct Answer :­Set Ǉouƌ ĐoŶsole passǁoƌd. / आपकॕ कंऺख़ल पॊ̾ शडᘀ  बनॊनॕ कॎ 

23)

Question Stimulus :­

Excel 2007 files have a default extension of / Excel 2007 मg _______  कॊ ोडफॗх ट ए� ̾  टgषन ऻख़तॊ ऻॖ।

xlsx

xlwx

xlkx

xlcx

Correct Answer :­xlsx 

24)

Question Stimulus :­

What is Custoŵ Shoǁs iŶ MS PoǁeƌPoiŶt ϮϬϬϳ? / iŶ MS PoǁeƌPoiŶt ϮϬϬϳ मg, Custoŵ Shoǁs � यॊ ऻख़तॊ ऻॖ?

Use the oŶlǇ soŵe paƌts of the ŵoŶitoƌ is Đalled Custoŵ Shoǁs / मॗोनटर कॕ कॕशल कॏ छ भॊगख़ ंकॊ उपयख़ग
Custoŵ Shoǁs कऻलॊतॊ ऻॖ।

The PƌeseŶtaៀ�oŶ ǁhiĐh ĐaŶ pƌeseŶt oŶlǇ oŶ paƌៀ�Đulaƌ date / शऻ ĸिgटॕषन जख़ कॕ शल ोशोष̽ ट ोतोथ कख़ ऻॎ ĸिgट
ोकयॊ जॊ ऺकतॊ ऻॖ

Cƌeaៀ�Ŷg PƌeseŶtaៀ�oŶs ǁithiŶ a PƌeseŶtaៀ�oŶ / ĸिgटॕषन कॕ भॎतर ĸिgटॕषंऺ ोïएट करनॊ

Theƌe is Ŷo opៀ�oŶ of Custoŵ Shoǁs / Custoŵ Shoǁs कॊ कख़ई ोशकх प नऻॎ ंऻख़तॊ ऻॖ

Correct Answer :­Cƌeaៀ�Ŷg PƌeseŶtaៀ�oŶs ǁithiŶ a PƌeseŶtaៀ�oŶ / ĸिgटॕषन कॕ भॎतर ĸिgटॕषंऺ ोïएट करनॊ 

25)

Question Stimulus :­

In MS Word, “Ctrl + End” is used to / MS Word मg “Ctrl + End” कॊ उपयख़ग ोकयॊ  जॊतॊ ऻॖ ­

Moǀes the Đuƌsoƌ to the eŶd of LiŶe / क ᘀऺर कख़ लॊइन कॕ अंत मg पîंचॊनॕ कॕ ोलए

Moǀes the Đuƌsoƌ to the eŶd of DoĐuŵeŶt / क ᘀऺर कख़ ड� यॐमgट कॕ अंत मg पîंचॊनॕ कॕ ोलए

Moǀes the Đuƌsoƌ to the eŶd of Paƌagƌaph / क ᘀऺर कख़ पॖरॊĭॊफ कॕ अंत मg पîंचॊनॕ कॕ ोलए

NoŶe of the Aďoǀe / उपरख़� त मg ऺॕ कख़ई नऻॎ ं

Correct Answer :­Moǀes the Đuƌsoƌ to the eŶd of DoĐuŵeŶt / क ᘀऺर कख़ ड� यॐमgट कॕ अंत मg पîंचॊनॕ कॕ ोलए 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­



If the length of a rectangle is increased by 5 %, then its area will increase by: / योद एक
आयत कॎ ल�ॊई 5% तक बुॊ दॎ जॊयॕ, तख़ उऺकॊ ⠀ॕjफल ोकतनॕ ĸोतषत तक बु जॊयॕगॊ:

Ϯϱ % 

ϱ % 

ϭϬ % 

ϳ.ϱ % 

Correct Answer :­ϱ %  

2)

Question Stimulus :­

The least number that must be subtracted from 410 so that the remainder is exactly divisible by 37 is: / शऻ Ύॐनतम
ऺंៀ�ॊ, ोजऺॕ 410 ऺॕ घटॊयॊ जॊनॊ चॊोऻए  तॊोक षॕह 37 ऺॕ पॐरॎ तरऻ ऺॕ ोशभॊोजत ऻख़:

33

23

13

3

Correct Answer :­3 

3)

Question Stimulus :­

(465/15) × 2 ­ (((180/3) × 5) / 10) ­ (36/12) = ?

20

24

25

29

Correct Answer :­29 

4)

Question Stimulus :­

Coŵplete the seƌies ĐhoosiŶg the ŵissiŶg leഀeƌ/s: / लॏ� अ⠀र चॏनकर mं॑खलॊ कख़ पॐरॊ कॎोजए: 
aď__ď__aa__ď__ďa

a, a, a, a

ď, ď, ď, ď

a, ď, a, a

ď, a, a, a



Correct Answer :­ď, ď, ď, ď 

5)

Question Stimulus :­

In the word 'SOPHISTICATED' the maximum distance between any two vowels is? /
'SOPHISTICATED' ष� मg, कख़ई भॎ दख़ �रख़ ंकॕ बॎच अोधकतम दॐ रॎ sॊ ऻॖ?

2

3

4

0

Correct Answer :­2 

6)

Question Stimulus :­

If ϱϮϲϴ is Đoded DMPN aŶd ϭϯϰϳϵ is Đoded AQFJL, theŶ hoǁ is ϯϵϲϴϮϰ Đoded? / यिद ϱϮϲϴ कख़ DMPN ऺॕ कख़ोडत ोकयॊ
जॊतॊ ऻॖ और ϭϯϰϳϵ कख़ AQFJL ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ ϯϵϲϴϮϰ कख़ कॖऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ?

QLPNMF

QLPNDF

QLPNKJ

QLPMNF

Correct Answer :­QLPNMF 

7)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the INCORRECT combination: / नॎचॕ
दॎ गई mं॑खलॊ मg अ⠀रख़ ंऔर ऺंៀ�ॊओ ंकॊ ïम उप埀�̾थत ऻॖ। गलत ऺंयख़जन पऻचॊोनयॕ:
i. 858plo7op7        ii. 858plo7op07             iii. 858plo7op7            iv. 858plo7op7

i

ii

iii

iv

Correct Answer :­ii 

8)

Question Stimulus :­

In a row of 15 boys, when Ramesh was shifted by two places towards the right, he
became ninth from the right end. What was his earlier position from the left end of



the row? / 15 लीकख़ ंकॎ पं埀�ő मg, जब रमॕष कख़ दॊयॎ ंतरफ दख़ ̾थॊन ĸोत̾थॊोपत ोकयॊ गयॊ, तख़ शऻ दॊयg ोऺरॕ ऺॕ
नग़शॊँ बन गयॊ। पं埀�ő कॕ बॊयg ोऺरॕ ऺॕ उऺकॊ ोपछलॊ ̾थॊन sॊ थॊ?

4th

5th

6th

7th

Correct Answer :­5th 

9)

Question Stimulus :­

Find the odd one out: / एक ोशहम ἀॊत कॎोजए:

Kolkata / कख़लकॊतॊ

PatŶa / पटनॊ

HǇdeƌaďad / ऻॖदरॊबॊद

Nagpuƌ / नॊगपॏर

Correct Answer :­Nagpuƌ / नॊगपॏर 

10)

Question Stimulus :­

If seǀeŶ ǁoƌkeƌs fiŶish tǁo‐thiƌds of a joď iŶ fouƌ daǇs, theŶ hoǁ ŵaŶǇ ǁoƌkeƌs haǀe to ďe hiƌed to fiŶish the
ƌeŵaiŶiŶg joď iŶ oŶe daǇ? / योद ऺॊत mोमक, चॊर ोदनख़ ंमg कॊयᘀ कख़ दख़­ोतऻॊई पॐरॊ करतॕ ऻġ, तख़ एक ोदन मg कॊयᘀ कख़ पॐरॊ
करनॕ कॕ ोलयॕ ोकतनॕ mोमकख़ ंकख़ रखनॊ ऻख़गॊ?

3

5

7

14

Correct Answer :­14 

11)

Question Stimulus :­

The seƌies giǀeŶ ďeloǁ ĐoŶtaiŶs a seƋueŶĐe of Ŷuŵďeƌs. IdeŶៀ�fǇ the INCORRECT ĐoŵďiŶaៀ�oŶ: / नॎचॕ दॎ गई mं॑खलॊ मg
ऺंៀ�ॊओ ंकॊ ïम उप埀�̾थत ऻॖ। गलत ऺंयख़जन पऻचॊोनयॕ: 

89, 78, 86, 80, 85, 82, 83

83

82



86

78

Correct Answer :­86 

12)

Question Stimulus :­

233 × 2 ­ 500 + 49 × 8 – (704/4 + 12) = ?

170

180

160

150

Correct Answer :­170 

13)

Question Stimulus :­

If tuhina means fire, arka means moon, vari means sun, chandra means water, dhara
means snow and hima means air and anil means earth. / योद tuhina  कॊ मतलब ऻॖ आग, arka कॊ
मतलब ऻॖ चंĵमा, vari कॊ मतलब ऻॖ सूय򡐏, chandra कॊ मतलब ऻॖ जल, dhara कॊ मतलब ऻॖ बफ򡐏  और hima कॊ
मतलब ऻॖ हवा और anil कॊ मतलब ऻॖ पृ暟�ी।

What is essential for fire to burn things up? / चॎिख़ ंकख़ जलॊनॕ कॕ ोलयॕ आग कख़ ोकऺकॎ आशʴकतॊ ऻॖ?

TuhiŶa

Hiŵa

AŶil

Vari

Correct Answer :­Hiŵa 

14)

Question Stimulus :­

A certain sum is invested at a certain rate of simple interest per annum. The total
amount after five and eight years is Rs. 1,420 and Rs. 1,660, respectively. What was
the amount of initial investment? / एक ोनोЖत रॊोष कख़ ĸोतशहᘀ एक ोनोЖत दर कॕ ऺरल �ॊज पर ोनशॕोषत
ोकयॊ गयॊ। कॏ ल रकम, पॊँच और आठ शह埀� कॕ बॊद ïमष: 1,420i और 1,660 i ऻॖ। ĸॊरंोभक ोनशॕष कॕ बॊद रकम sॊ
थॎ?

Rs. ϭ,ϬϬϬ / ϭ,ϬϬϬ iपए

Rs. ϭ,ϬϮϬ / ϭ,ϬϮϬ iपए

Rs. ϭ,ϭϬϬ / ϭ,ϭϬϬ iपए

Rs. ϭ,ϮϲϬ / ϭ,ϮϲϬ iपए



Correct Answer :­Rs. ϭ,ϬϮϬ / ϭ,ϬϮϬ iपए 

15)

Question Stimulus :­

At the ៀ�ŵe of ŵaƌƌiage a ŵaŶ ǁas ϲ Ǉeaƌs oldeƌ thaŶ his ǁife ďut ϭϮ Ǉeaƌs aᘀeƌ the ŵaƌƌiage ϲ/ϱ ៀ�ŵes the age of his
ǁife. What ǁeƌe theiƌ ages iŶ Ǉeaƌ at the ៀ�ŵe of ŵaƌƌiage? / षॊदॎ कॕ ऺमय एक आदमॎ अपनॎ पॎ ऺॕ 6 शहᘀ बुॊ थॊ,
लॕोकन षॊदॎ कॕ 12 ऺॊल बॊद अपनॎ पॎ कॎ आयॏ कॕ ϲ/ϱ गॏनॊ थॊ। षॊदॎ कॕ ऺमय, शह埀� मg उनकॎ आयॏ sॊ थॎ?

Ϯϰ, ϭϴ

Ϯϲ, ϮϬ

Ϯϳ, Ϯϭ

Ϯϱ, ϭϵ

Correct Answer :­Ϯϰ, ϭϴ 

16)

Question Stimulus :­

There are five different houses, U to Y in a row. U is to the right of V, and Y is to the left of W and right of U. V is to
the right of X. Which house is in the middle? / एक पं埀�ő मg, U ऺॕ Y, पॊँच अलग घर ऻġ। U, V कॎ दॊयॎ ंतरफ ऻॖ, और Y, W
कॎ बॊयॎ ंतरफ और U कॎ दॊयॎ ंतरफ ऻॖ। V, X कॎ दॊयॎ ंतरफ ऻॖ। कग़न ऺॊ घर बॎच मg ऻॖ?

U

V

W

X

Correct Answer :­U 

17)

Question Stimulus :­

What is the time taken by a train of length 200 m travelling at a speed of 60 m/s to
cross a person travelling at a speed of 36 kmph in the same direction? / 200 मॎटर ल�ॊई
कॎ रॕलगॊीॎ ¸ॊरॊ ऺमॊन ोदषॊ मg 36 ोकमॎ ĸोतघ́ॕ कॎ चॊल ऺॕ यॊjॊ कर रऻॕ Ґ埀�ő कख़ पॊर करनॕ मg ोकतनॊ ऺमय
लगॕगॊ?

ϰ seĐ / 4 ऺॕकˆ

ϱ seĐ / 5 ऺॕकˆ

ϭϬ seĐ / 10 ऺॕकˆ

ϭϭ seĐ / 11 ऺॕकˆ

Correct Answer :­ϰ seĐ / 4 ऺॕकˆ 

18)

Question Stimulus :­



5

­5

1

­1

Correct Answer :­­5 

19)

Question Stimulus :­

If EXOTIC is coded CITOXE, then how is KINDLE coded? / यिद EXOTIC कख़ CITOXE ऺॕ कख़ोडत ोकयॊ
जॊतॊ ऻॖ, तख़ KINDLE कख़ कॖऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ?

DKLIEN

NEKDIL

ELDNIK

EIKNDL

Correct Answer :­ELDNIK 

20)

Question Stimulus :­

If P : Q :: Ϯ : ϳ; Q : R :: ϯ : Ϯ; aŶd R : S :: ϭ : ϰ; theŶ, P : S :: ? / योद P : Q :: Ϯ : ϳ; Q : R :: ϯ : Ϯ; और R : S :: ϭ : ϰ; तब, P : S ::
?

ϯ : Ϯϴ

Ϯ : Ϯϭ

ϯ : ϴ

Ϯ : ϴ

Correct Answer :­ϯ : Ϯϴ 

21)

Question Stimulus :­

Coŵplete the seƌies ĐhoosiŶg the ŵissiŶg Ŷuŵďeƌ: / लॏ� ऺंៀ�ॊ चॏनकर mं॑खलॊ कख़ पॐरॊ कॎोजए: 
ϲ, Ϯϱ, ϲϮ, ϭϮϯ, Ϯϭϰ, ______

223

196



456

341

Correct Answer :­341 

22)

Question Stimulus :­

Correct Answer :­  

23)

Question Stimulus :­

The sƋuaƌe of ϱϯ is: / 53 कॊ शगᘀ ऻॖ:

Ϯ,ϴϬϵ

Ϯ,ϴϬϬ

Ϯ,ϴϬϲ

NoŶe of the aďoǀe / उपयॏᘀő मg ऺॕ कख़ई नऻॎ ं

Correct Answer :­Ϯ,ϴϬϵ 

24)



Question Stimulus :­

Correct Answer :­  

25)

Question Stimulus :­

The aǀeƌage of ϴ Ŷuŵďeƌs is Ϯϱ. If eaĐh Ŷuŵďeƌ is iŶĐƌeased ďǇ ϭϱ %, theŶ the Ŷeǁ aǀeƌage of the Ŷuŵďeƌs is / 8
ऺंៀ�ॊओ ंकॊ औऺत 25 ऻॖ। योद ĸ쀃ॕक ऺंៀ�ॊ कख़ 15% ऺॕ बुॊ ोदयॊ जॊयॕ, तख़ ऺंៀ�ॊओ ंकॊ नयॊ औऺत ऻख़गॊ:

ϯϬ.ϰϱ 



Ϯϴ.ϳϱ

ϯϱ.ϲϳ 

ϮϬ.ϰϱ

Correct Answer :­Ϯϴ.ϳϱ 

Topic:­ General Management
1)

Question Stimulus :­

Sales and marketing information systems support ________ at the top management level. / षॎहᘀ ĸबंधन ˑर पर
________ कख़ ोशïय और मॊकĝ ोटंग  ॐऺचनॊ ĸणॊलॎ ऺमथᘀन करतॊ ऻॖ।

Pricing decisions / मॐ· ोनधॊᘀरण

Advertising campaigns / ोशἀॊपन अोभयॊन

Incentive schemes for dealers / डॎलरख़ ंकॕ ोलए ĸख़񂐄ॊऻन यख़जनॊएं

Market research / बॊजॊर अनॏऺंधॊन

Correct Answer :­Market research / बॊजॊर अनॏऺंधॊन 

2)

Question Stimulus :­

__________ is an example for current asset. / चॊलॐ प̀रऺंपो̃, कॊ एक उदॊऻरण __________ ऻॖ।

Land / भॐोम

Building / इमॊरत

Goodwill /  ॏऺनॊम

Inventory / तॊोलकॊ (मॊल­ ॐऺचॎ)

Correct Answer :­Inventory / तॊोलकॊ (मॊल­ ॐऺचॎ) 

3)

Question Stimulus :­

Financial statements are mainly prepared for / ोश̃ॎय ोशशरणख़ ंकख़ मॏៀ� iप ऺॕ तॖयॊर ोकयॊ जॊतॊ ऻॖ:

Only internal use / कॕशल आंत̀रक ĸयख़ग कॕ ोलए

Various stakeholders  / ोशोभΌ ोऻतधॊरकख़ ं(ːॕकऻख़ϋ ᘀऺ) कॕ ोलए

Government / षॊऺन कॕ ोलए

Creditors of the business / Ґॊपॊर कॕ ऋणदॊतॊओ ंकॕ ोलए

Correct Answer :­Various stakeholders  / ोशोभΌ ोऻतधॊरकख़ ं(ːॕकऻख़ϋ ᘀऺ) कॕ ोलए 

4)



Question Stimulus :­

Imprest  system / Float is followed in the case of / अĭदॊय ĸणॊलॎ / �ख़ट कॊ _________ कॕ मॊमलॕ मg अनॏगमन
ोकयॊ जॊतॊ ऻॖ।

Petty cash book / खॏदरॊ रख़की बऻॎ

Sales book / ोबïॎ बऻॎ

Pass book / पॊऺ बॏक

Cash book / रख़की बऻॎ

Correct Answer :­Petty cash book / खॏदरॊ रख़की बऻॎ 

5)

Question Stimulus :­

What does it represent, if Net Present Value NPV < 0 / अगर ोनशल शतᘀमॊन मॐ· NPV < 0 ऻख़तॊ ऻॖ तख़ यऻ sॊ
ोनiोपत करतॊ ऻॖ?

NPV is in good stage / एनपॎशॎ, अẅॎ 埀�̾थोत मg ऻॖ।

NPV is exceeding the initial investment / एनपॎशॎ, ĸॊर埀�ϊक ोनशॕष ऺॕ अोधक ऻॖ।

NPV is less than initial investment / एनपॎशॎ, ĸॊर埀�ϊक ोनशॕष ऺॕ कम ऻॖ।

NPV is in bad stage / एनपॎशॎ, बॏरॎ 埀�̾थोत मg ऻॖ।

Correct Answer :­NPV is less than initial investment / एनपॎशॎ, ĸॊर埀�ϊक ोनशॕष ऺॕ कम ऻॖ। 

6)

Question Stimulus :­

Which of the following characteristics is considered as a natural element of leading? / ोनηोल埀�खत ोशषॕहतॊओ ंमg
ऺॕ ोकऺॕ नॕत॑̆ कॕ �ॊभॊोशक घटक कॕ iप मg जॊनॊ जॊतॊ ऻॖ?

Continuity / ोनरंतरतॊ

Delegating / ĸ쀃ॊयख़जन

Creativity / ऺ॑जनषॎलतॊ

Humanism / मॊनशतॊशॊद

Correct Answer :­Delegating / ĸ쀃ॊयख़जन 

7)

Question Stimulus :­

Which one of the following is a real account? / ोनηोल埀�खत मg ऺॕ कग़न एक ऺंपोत लॕखॊ ऻॖ?

Salary account / शॕतन खॊतॊ

Mr. Ram’s account / mॎ रॊम कॊ खॊतॊ



Building account / ोब埀�ϋंग अकॊउंट (ोनमॊᘀण खॊतॊ)

Interest expense account / �ॊज Ґय खॊतॊ

Correct Answer :­Building account / ोब埀�ϋंग अकॊउंट (ोनमॊᘀण खॊतॊ) 

8)

Question Stimulus :­

___________ are responsible for taking major decisions for the organization as a whole/___________ एक पॐरॕ
ऺंगठन कॕ ोलए बीॕ फॖऺलॕ लॕनॕ कॕ ोलए ोजκॕदॊर ऻġ

Top managers / षॎहᘀ ĸबंधक

Department Head  / ोशभॊग कॕ ĸमॏख

Supervisors / पयᘀशॕ⠀कख़ ं

Junior Officers / कोन̽ ठ अोधकॊ̀रयख़ ं

Correct Answer :­Top managers / षॎहᘀ ĸबंधक 

9)

Question Stimulus :­

Bad Debts  is shown on / बॕड डॕс ट (बॏरॊ ऋण) ĸदोषᘀत ोकयॊ जॊतॊ ऻॖ ­

Debit side of Profit and Loss account / लॊभ और ऻॊोन खॊतॕ कॎ डॕोबट प⠀ मg

Credit side of  Profit and Loss account / लॊभ और ऻॊोन खॊतॕ कॎ ïॕोडट प⠀ मg

Asset side of balance sheet / तॏलन पj कॕ प̀रऺу पो̃ प⠀ मg

Liabilities side of Balance sheet / तॏलन पj मg दॕनदॊ̀रयख़ ंकॕ प⠀ मg

Correct Answer :­Debit side of Profit and Loss account / लॊभ और ऻॊोन खॊतॕ कॎ डॕोबट प⠀ मg 

10)

Question Stimulus :­

Working capital indicates / कॊयᘀषॎल पॐंजॎ इंोगत करतॊ ऻॖ :

Cash required for managing day to day activities of the business / Ґॊपॊर कॎ दॖोनक गोतोशोधयख़ ंकॕ ĸबंधन कॕ
ोलए आशʴक नकद

Funds required to buy inventory / मॊल­ ॐऺचॎ खरॎदनॕ कॕ ोलए आशʴक ोनोध

Funds required to pay for loans / ऋण भॏगतॊन करनॕ कॕ ोलए आशʴक ोनोध

Cash required to buy assets / प̀रऺंपो̃ खरॎदनॕ कॕ ोलए आशʴक नकदॎ

Correct Answer :­Cash required for managing day to day activities of the business / Ґॊपॊर कॎ दॖोनक
गोतोशोधयख़ ंकॕ ĸबंधन कॕ ोलए आशʴक नकद 

11)



Question Stimulus :­

___________ refers to the science of measuring and categorizing consumer lifestyles./  ___________, 
उपभख़� तॊ जॎशनषॖलॎ कॕ मॊपन कॕ ोशἀॊन और शगᘀकरण कख़ ऺंदोभᘀत करतॊ ऻॖ।

Demographics  / जनऺॊं埀�ៀ�कॎ

Psychographics/ मनख़श॑埀�ѝ तपरक   (ऺॊइकख़ĭॊफ)

Segmentation  /  ोशभॊजन

Positioning  / 埀�̾थोत ोनधॊᘀरण

Correct Answer :­Psychographics/ मनख़श॑埀�ѝ तपरक   (ऺॊइकख़ĭॊफ) 

12)

Question Stimulus :­

What is ͚gƌapeǀiŶe͛ fƌoŵ aŶ oƌgaŶizaៀ�oŶal poiŶt of ǀieǁ? एक ऺंगठनॊ稃क �ोЊकख़ण ऺॕ "ĭॕपशॊइन" sॊ ऻॖ ?

An informal channel of communication that evolves itself / ऺंचॊर कॊ एक अनग़पचॊ̀रक ऺरोण जख़ ोक खॏद कख़
ोशकोऺत करतॊ ऻॖ।

A formal channel of communication / औपचॊ̀रक ऺंचॊर ऺरोण

A formal and deliberate downward channel of communication / औपचॊ̀रक और जॊनबॐझकर अधख़मॏख ऺंचॊर
ऺरोण।

A formal and deliberate upward channel of communication / औपचॊ̀रक और जॊनबॐझकर ऊΑᘀमॏखॎ ऺंचॊर
ऺरोण ।

Correct Answer :­An informal channel of communication that evolves itself / ऺंचॊर कॊ एक अनग़पचॊ̀रक ऺरोण
जख़ ोक खॏद कख़ ोशकोऺत करतॊ ऻॖ। 

13)

Question Stimulus :­

Net working capital refers to__________. / षॏ� कॊयᘀषॎल पॐंजॎ __________ कख़ ऺंदोभᘀत करतॎ ऻॖ।

Total assets minus (­) fixed assets / कॏ ल प̀रऺंपो̃ घटॊश ;‐Ϳ अचल प̀रऺंपो̃

Current assets minus (­) current liabilities / चॊलॐ प̀रऺंप埀�ѝ त घटॊश ;‐Ϳ चॊलॐ दॕयतॊ

Current assets minus (­) inventories / चॊलॐ प̀रऺंपो̃ घटॊश ;‐Ϳ मॊल  ॐऺचॎ

Current assets / चॊलॐ प̀रऺंपो̃

Correct Answer :­Current assets minus (­) current liabilities / चॊलॐ प̀रऺंप埀�ѝ त घटॊश ;‐Ϳ चॊलॐ दॕयतॊ 

14)

Question Stimulus :­

_____________  refers to informal communication channel / ____________, अनग़पचॊ̀रक ऺंचॊर चॖनल कख़
ऺंदोभᘀत करतॊ ऻॖ

Grapevine / ĭॕपशॊइन (अपॏ̽ ट ऺमॊचॊर)



Memo / ἀॊपन

Circular /  प̀रपj

Telephone / टॕलॎफख़न

Correct Answer :­Grapevine / ĭॕपशॊइन (अपॏ̽ ट ऺमॊचॊर) 

15)

Question Stimulus :­

______________ refers to that part of the profits of a company which is distributed to the share holders /
______________ एक कंपनॎ कॕ लॊभ, जख़ षॕयरधॊरकख़ ंकख़ ोशत̀रत ोकयॊ जॊतॊ ऻॖ, कॕ उऺ ोऻ�ॕ कख़ ऺंदोभᘀत करतॊ ऻॖ।

Dividend / लॊभॊंष

Interest / �ॊज

Retained earnings / ĸोतधॊ̀रत कमॊई

Lease rentals / प韉ॕ� कॊ ोकरॊयॊ

Correct Answer :­Dividend / लॊभॊंष 

16)

Question Stimulus :­

___________  refers to long term planning for proposed capital outlays and their financing / ___________
, ĸˑॊोशत पॐंजॎ प̀रҐय और उनकॕ ोश̃पख़हण कॕ ोलए दॎघᘀकॊोलक यख़जनॊ कख़ ऺंदोभᘀत करतॊ ऻॖ

Capital Budgeting / पॐंजॎ आयҐय

Working Capital / कॊयᘀकॊरॎ पॐंजॎ

Term finance / अशोध कॕ ोश̃

None of the above / उपरख़ő मg ऺॕ कख़ई नऻॎ ं

Correct Answer :­Capital Budgeting / पॐंजॎ आयҐय 

17)

Question Stimulus :­

One of the earliest management  thinkers to use the term MBO (Management by Objectives) / एम.बॎ.ओ
(उ�ॕ̻ य आधॊ̀रत ĸबंк न) पद कॊ उपयख़ग करनॕ शॊलॕ ऺबऺॕ पऻलॕ ĸबंधन ोशचॊरकख़ ंमg ऺॕ एक ऻġ ­

Peter Drucker / पॎटर डᘀ कर

Heinz Weihrich /  ऻॕनरॎ शॕऻ̀रक

Harold Koontz / ऻॕरख़ϋ कॐं ट्ि

Porter / पख़टᘀर

Correct Answer :­Peter Drucker / पॎटर डᘀ कर 



18)

Question Stimulus :­

IŶ a ďalaŶĐe‐sheet, goodǁill appeaƌs as __________/ तॏलन­पj (बॖलgऺ षॎट) मg,  ॏऺनॊम ________ कॕ iप मg ĸकट ऻख़तॎ
ऻॖ।

deferred liaďilitǇ / आ̾थोगत दॕनदॊरॎ

intangible asset / अमॐतᘀ प̀रऺंप埀�ѝ त

fixed asset / ̾थॊयॎ प̀रऺंप埀�ѝ त

current liability / चॊलॐ दॕयतॊ

Correct Answer :­intangible asset / अमॐतᘀ प̀रऺंप埀�ѝ त 

19)

Question Stimulus :­

Based on importance, planning can be _________. / मऻ̆ कॕ आधॊर पर, ोनयख़जन _________  ऻख़ ऺकतॎ ऻॖ।

Formal and Informal / औपचॊ̀रक और अनग़पचॊ̀रक

Proactive and Reactive / अĭऺोïय और ĸोतोïयॊषॎल

Long­term and Short­term / दॎघᘀकॊोलक और अώकॊोलक

Strategic and Operational / यॏ埀�� तपॐणᘀ और प̀रचॊलनॊѝ मक

Correct Answer :­Strategic and Operational / यॏ埀�� तपॐणᘀ और प̀रचॊलनॊѝ मक 

20)

Question Stimulus :­

Maintenance of personal accounts and cash accounts is called as ______ / Ґ埀�őगत खॊतख़ ंऔर नकदॎ खॊतख़ ंकॊ
अनॏर⠀ण ________ कऻलॊतॊ ऻॖ।

Pure single entry system / षॏ� एकल ĸोशोЊ प�ोत

Simple single entry system / ऺरल एकल ĸोशोЊ प�ोत

Quasi single entry system / अधᘀ एकल ĸोशोЊ प�ोत

None of the above / उपरख़ő मg ऺॕ कख़ई नऻॎ ं

Correct Answer :­Simple single entry system / ऺरल एकल ĸोशोЊ प�ोत 

21)

Question Stimulus :­

WhiĐh of the folloǁiŶg ǁould ƋualifǇ to ďe a stƌategiĐ HRM aĐៀ�ǀitǇ?/ इनमg ऺॕ कग़न एक ऺॊम̀रक एचआरएम गोतोशोध
ऻख़नॕ कॕ ोलए अऻᘀतॊ ĸॊ� करॕगॎ?

Imparting job­specific training in order to improve employee productivity / कमᘀचॊरॎ उ̈ॊदकतॊ मg  ॏऺधॊर कॕ
ïम मg नग़करॎ ोशोषЊ ĸोष⠀ण कख़ ĸदॊन करनॊ।



Determining the staffing pattern to optimise costs/ लॊगत अनॏकॐ लन करनॕ कॕ ोलए कमᘀचॊरॎ ̺ यश̾ थॊ कॊ
ोनधॊᘀरण

Administering the compensation policy that would encourage performers/ ĸोतपॐोतᘀ नॎोत कॊ Ґश̾थॊपन
करनॊ, ोजऺऺॕ ोनТॊदनकतॊᘀओ ंकख़ ĸख़񂐄ॊऻन ोमलॕगॊ।

Determining the level and type of performance that is crucial for the growth of the organization/
ऺंगठन कॕ ोशकॊऺ कॕ ोलए मऻ̆पॐणᘀ ोनТॊदन कॕ ĸकॊर और ˑर कख़ ोनधॊᘀ̀रत करनॊ।

Correct Answer :­Determining the level and type of performance that is crucial for the growth of the
organization/ ऺंगठन कॕ ोशकॊऺ कॕ ोलए मऻ̆पॐणᘀ ोनТॊदन कॕ ĸकॊर और ˑर कख़ ोनधॊᘀ̀रत करनॊ। 

22)

Question Stimulus :­

______________ refers to discrete initiatives that are intended to achieve radically redesigned and
improved work process in a bounded time frame. /  __________ अऺतत पऻल कख़ ऺंदोभᘀत करतॎ ऻॖ ोजनकॊ उ�ॕʴ,
ोनोЖत ऺमयऺॎमॊ मg मग़ोलक पॏनᘀiपॊंकन और बॕऻतर कॊयᘀ करनॕ कॎ ĸोïयॊ कख़ ĸॊ� करनॊ ऻख़तॊ ऻॖ।

IŵpliĐaៀ�oŶs foƌ ŵaŶageƌs / ĸबंधकख़ ंकॕ ोलए ोनोऻतॊथᘀ

PlaŶŶiŶg / यख़जनॊ

Re­engineering /  पॏन: इंजॎोनयरॎ (पॏन:अोभयॊंोjकॎ)

EŵpoǁeƌŵeŶt of eŵploǇees / कमᘀचॊ̀रयख़ ंकॊ ऺषőॎकरण

Correct Answer :­Re­engineering /  पॏन: इंजॎोनयरॎ (पॏन:अोभयॊंोjकॎ) 

23)

Question Stimulus :­

What does intelligence mean? / बॏ埀��मतॊ ऺॕ sॊ अथᘀ ऻॖ?

High degree of knowledge  /  ἀॊन कॎ उŵ उपॊोध

Show self confidence / आ稃ोशЌॊऺ ोदखनॊ

High desire  for achievement  /  उपल埀�� कॕ ोलए उŵ इẅॊ

To  create vision, solve problems and interpret large amount of information / दॐ रदोषᘀतॊ कॊ ऺ॑जन, ऺम�ॊओ ंकख़
ऻल करनॊ और बीॎ मॊjॊ मg जॊनकॊरॎ कॎ Ґॊៀ�ॊ करनॊ।

Correct Answer :­To  create vision, solve problems and interpret large amount of information / दॐ रदोषᘀतॊ कॊ ऺ॑जन,
ऺम�ॊओ ंकख़ ऻल करनॊ और बीॎ मॊjॊ मg जॊनकॊरॎ कॎ Ґॊៀ�ॊ करनॊ। 

24)

Question Stimulus :­

What is a manager who inspires people to attain high performance levels is said to be good at?  / शख़
ĸबंधक, जख़ लख़गख़ ंकख़ उŵ ोनТॊदन कॕ ˑर कख़ ĸॊ� करनॕ कॕ ोलए ĸॕ̀रत करतॊ ऻॖ, ोकऺ चॎि मg अẅॊ कऻलॊतॊ ऻॖ

Leading / नॕत॑ѝ श करनॕ मg

Organising / ऺंगोठत करनॕ मg



Controlling / ोनयंjण रखनॕ मg

Planning / यख़जनॊ बनॊनॕ मg

Correct Answer :­Leading / नॕत॑ѝ श करनॕ मg 

25)

Question Stimulus :­

What type outcome / effect would an organization face by rejecting on unsuitable candidate? / एक अनॏपयॏő
उκॎदशॊर कख़ अ�ॎक॑त करनॕ पर एक ऺंगठन कख़ ोकऺ ĸकॊर कॕ प̀रणॊम/ĸभॊश कॊ ऺॊमनॊ करनॊ पीॕगॊ?

Negative / नकॊरॊѝ मक

Positive / ऺकॊरॊѝ मक

Unsuccessful / अऺफल

Diminishing / ňॊऺमॊन

Correct Answer :­Positive / ऺकॊरॊѝ मक 


